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Question ID:- 181

Rearrange the parts in correct order to make a meaningful sentence.
(a) entering a house,

(b) saw a burglar

(¢) when the policeman

(d) he ran and caught him

(1) (@) (b) (c) (d)
(2)  (®)(9) (d) (a)
(3) (0 (b) (a) (d)
(4)  (d) (@) (b) (¢)
Options:-

.1, Option ID :- 721,
. 2, Option ID :- 722,
. 3, Option ID :- 723,

. 4, Option ID :- 724,
Answer Given:- 3, Option ID : -723

Question ID:- 182

Change the following sentence from Active Voice to Passive Voice.
Why did your friend write such a nasty letter to you ?

(1) Why such a nasty letter was written to you by your friend ?
(2) Why is a nasty letter written to you by your friend ?

(3

(

) Why a nasty letter to you was written by your friend ?
)  Why was such a nasty letter written to you by your friend ?

s

Options:-

.1, Option ID :- 725,
« 2, Option ID :- 726,
. 3, Option ID :- 727,

. 4, Option ID :- 728,
Answer Given:- 4, Option ID : -728

Question ID:- 183




Fill in the blank with the correct preposition.

The wheel came the vehicle when it was negotiating a dangerous curve.
(1) out

(2) of

(3) off

(4) from

Options:-

.1, Option ID :- 729,
. 2, Option ID :- 730,
. 3, Option ID :- 731,

« 4, Option ID :- 732,
Answer Given:- 3, Option ID : -731

Question ID:- 184

Choose the correct tense form from the given options.

I had finished my exercise when my friend came to see me.
(1) Past Indefinite

(2) Past Continuous

(3) Past Perfect

(4) Past Perfect continuous

Options:-

.1, Option ID :- 733,
« 2, Option ID :- 734,
. 3, Option ID :- 735,

. 4, Option ID :- 736,
Answer Given:- 1, Option ID : -733

Question ID:- 185

Change the following sentence from Direct Speech into Indirect Speech.
“I always take a cup of green tea in the morning,” my father said to his friends.

(1) He always took a cup of green tea in the morning my father told his friends.
(2) My father told his friends that he always took a cup of green tea in the morning.
(3) My father told his friends that he had always taken a cup of green tea in the morning.
(4) My father told his friends that he has always been taking a cup of green tea.
Options:-

.1, Option ID :- 737,
« 2, Option ID :- 738,
. 3, Option ID :- 739,

« 4, Option ID :- 740,
Answer Given:- 2, Option ID : -738

Question ID:- 186




Identify the part which has an error in it.
She discovered / to her horror / that she swallowed a fly / while drinking tea.

(1) 2 (3) (4)

Options:-

.1, Option ID :- 741,
« 2, Option ID :- 742,
. 3, Option ID :- 743,

. 4, Option ID :- 744,
Answer Given:- 1, Option ID : -741

Question ID:- 187

Identify the word nearest in meaning to the given word.
DERISIVE

(1) quarrelsome

(2) disdainful

(3) abusive
(4) decent
Options:-

.1, Option ID :- 745,
« 2, Option ID :- 746,
. 3, Option ID :- 747,

. 4, Option ID :- 748,
Answer Given:- 4, Option ID : -748

Question ID:- 188

Identify the word opposite in meaning to the given word.
MITIGATE

(1) float

(2) increase

(3) reduce

(4) expand

Options:-

.1, Option ID :- 749,
« 2, Option ID :- 750,
. 3, Option ID :- 751,

« 4, Option ID :- 752,
Answer Given:- 4, Option ID : -752

Question ID:- 189




Identify the Part of Speech of the underlined expression.

Students should not while away their time in frivolous activities.

(1) Adverb

(2) Verb

(3) Conjunction

(4) Pronoun
Options:-

.1, Option ID :- 753,
« 2, Option ID :- 754,
« 3, Option ID :- 755,

« 4, Option ID :- 756,
Answer Given:- 2, Option ID : -754

Question ID:- 190

Hurrah We have won.
What punctuation mark should be used after “Hurrah” ?

(1) Colon

(2) Mark of interrogation
(3) Mark of exclamation
(4) Semi-colon

Options:-

.1, Option ID :- 757,
« 2, Option ID :- 758,
. 3, Option ID :- 759,

. 4, Option ID :- 760,
Answer Given:- 3, Option ID : -759

Subject : GH_Q11-Q20_PGTHIS

Question ID:- 191

Frefafes mi # samgds TgeR SR e 99 #1 e S S

=R 73 4 fomrea =1 fas vee € | fomrs Su=R-uE 1 o1 %1 U TYE w6 a1 © 6 Wy g o
2 SATERTFHAS hl o T A § | SSTTR Fah T ISR ot Telr o forg, [efimE] $1o asie o FIEd
el I % oI STEvae S9SN & ARl &1 oy 33w § | foare 9 gy % 3ugad Wl & aan
=1 Ty T ¥ | S A SEErt Y ST 3 i ST a9 Tga | fame @ werme foewt ¥

SUSTR Fa 379 SR i eyl % forg 2 =vd €2
(1) TSHTR e S 2 |

(2) HIHRI SHERI o FFRL o B |

(3) TN HHER TEd ¢

(4) HErER-F % fawE ued §

Options:-
.1, Option ID :- 761,




« 2, Option ID :- 762,
. 3, Option ID :- 763,

. 4, Option ID :- 764,
Answer Given:- 4, Option ID : -764

Question ID:- 192

Frfafes Teia F SAYdE T SR ARG U9 1 §el 3 S

=R 73 | fosres 1 fasm veea € | fom SHeR-uE 1 ST %1 U THE [ a1 © 6 Wy € oHE
T STEvTRaIet sl o g0 I 2 | ISR Faeh 279 SR &t Jelrel = forg, Tt st aeie & SF&y
Teeell = % T STEvae SOl & R 1 o SO ¥ | o 3ra a-ay F Suga Wt i aen
1w faame § | S A SHeErt Y S 3 i Susia qe uga o famm @ weman foerdt 7

fomm fretfefad & 4 fraet srevmarsl 1 g & w3 €2
(1) ISR go

(2 feelt

(3) Toamw Arg gas-gafadi

(4) | AfereRTE

Options:-

.1, Option ID :- 765,
« 2, Option ID :- 766,
. 3, Option ID :- 767,

. 4, Option ID :- 768,
Answer Given:- 4, Option ID : -768

Question ID:- 193

Frefafas Teie 1 sTgdE TeeR SR AT 9 F1 HEl S sl

TR 731§ fomr w1 fo e € | fomrs SHeR-uE &t S 1 Uh WS S 9§ € WY 8 s HE
S TS ol o G S 2 | ISR Feh ST9 ST &t Telrel o fore, TRt st s & 7%y
et FoH % o eTevass Iyl & gl & ey Ser ¥ | faame T at-ay % Sugda @t i aamw
1 AR T § | ST A SHeErt Y ST 36 I ST qe Tgar o fawe ¥ wera e 7

frefafaa § & o we=-7m o ¢
(1) SR — SHISATR

(2) AR — SHAEIHS

(3) SHEH - ATHIH

(4) TEEE - TGS

Options:-

.1, Option ID :- 769,

« 2, Option ID :- 770,

. 3, Option ID :- 771,

. 4, Option ID :- 772,
Answer Given:- 4, Option ID : -772




Question ID:- 194

frefafaa Ty 1 saeyds Ygat 3T iR we o e 3 dife

TR T ¥ T o forse wees & | R - o ST 6 U WY Eid o € @ 9 € S
H STEvTRaret 1 W qU H E | ISR qaek ST USHIR & T o forg, it st a9 % ey
TEEell FAM o AU STavash IUHTN  faRIaH| w1 @y IS € | faam Jra a-ay & SugF Hiefl i qem
o1 HreAy fame § | AT A1 el 1 79 ScAG o1 S qeh YA § fomred § warm e g

MUY SO WS O SR STEvHeh SUSHIN o (a9 i @l § ?
(1) ®R ! EwdEHal & fau

2) TRl HER F fou

3) foraa =1 &M w0 % fog

(
(
(4) H& T W HEE wiEd & fag
Options:-

.1, Option ID :- 773,

« 2, Option ID :- 774,

. 3, Option ID :- 775,

« 4, Option ID :- 776,
Answer Given:- 2, Option ID : -774

Question ID:- 195

Frfafad i &1 sy Tget ST ARG Y9 1 el S S,

HHrER 73§ T &1 fady e @ | fosm Suem-ua 1 37 &1 U6 U@ Ed o1 § & 9 & 1w
T STEvIRAIe sl o JU I 2 | ISR ek 79 USHIR i Flrel = forg, Tt st aeie & 7%y
Teeelt I % o STEvae Ukl & IS 1 ey 3w § | foeme Ir aX-av % 3ugad el o aan
=1 Hrem faame ¥ | Sl A SHeErt Y S 3 i Sy qe uge § fame @ gemar faerdt ¥

el oy ate o fammeEl 1 eSS € 2
(1) T o gash
(2) SEYHEH YR HaHt

(3) VISl AR HeH
(4) oR-Gedl
Options:-

.1, Option ID :- 777,
« 2, Option ID :- 778,
. 3, Option ID :- 779,

« 4, Option ID :- 780,
Answer Given:- 2, Option ID : -778

Question ID:- 196




(1) &1 4" - A

(2) S ATl S8 - Tided

(3) Tomm 47 - St

(4) Ha = fed w A - | fEas

Options:-

.1, Option ID :- 781,
« 2, Option ID :- 782,
. 3, Option ID :- 783,

. 4, Option ID :- 784,
Answer Given:- 4, Option ID : -784

Question ID:- 197

Tre=fafas § faad 9 amen w78 & -
) TEWEN
(2 fedE
(3) e
(4) W

HAMEM
Options:-

.1, Option ID :- 785,
« 2, Option ID :- 786,
. 3, Option ID :- 787,

. 4, Option ID :- 788,
Answer Given:- 3, Option ID : -787

Question ID:- 198

Freferfad ¥ aom v T8 2 -
(1) o¥H

(2) TS

(3) e

(4 «E

Options:-

.1, Option ID :- 789,
« 2, Option ID :- 790,
. 3, Option ID :- 791,

« 4, Option ID :- 792,
Answer Given:- 4, Option ID : -792

Question ID:- 199




(1) 3TH
(2) wafy
(3) =t
(4) @IfHF

Options:-

.1, Option ID :- 793,
« 2, Option ID :- 794,
. 3, Option ID :- 795,

« 4, Option ID :- 796,
Answer Given:- 4, Option ID : -796

Question ID:- 200
Trfafaa 5 Fa=m =i gfie 9 s9Ta 8 -
(1) sfw=a o= - T

(2) Tvem g - =

(3) qEuATEE - H

(4) HeuarEeh - Sl
Options:-

.1, Option ID :- 797,
« 2, Option ID :- 798,
. 3, Option ID :- 799,

. 4, Option ID :- 800,
Answer Given:- 2, Option ID : -798

Subject : GA_Q21-Q30_PGTHIS

Question ID:- 201

Which of the following states in India does not have a bicameral legislature ?
(1) Bihar

(2) Maharashtra

(3) Andhra Pradesh

(4) Madhya Pradesh

Frefafas § 9 awg & o9 ¥ T § fgget faurdsa 7= §2

(1) fo=r

(2) HeEWrg
(3) Y yeW
(4) | YU

Options:-




.1, Option ID :- 801,
« 2, Option ID :- 802,
« 3, Option ID :- 803,

« 4, Option ID :- 804,
Answer Given:- 4, Option ID : -804

Question ID:- 202

Assertion (A) : The Government of India adopted the ‘waterfall’ framework for policy making
during pandemic induced uncertainities since 2020.

Reason (R) : The ‘waterfall’ framework is a flexible approach to policy making which uses
feedback loops and real-time adjustment.

Choose the correct answer from the codes below :

(1)  (A) is correct but (R) is wrong

) (A) is wrong but (R) is correct

(3) Both (A) and (R) are correct and (R) explains (A)
) Both (A) and (R) are wrong

AIUFHAT (A) :  YRD TR 7 TR ¥ 3ea= iffesaed & Srm a8 2020 @ Aifa a9 & fag
‘FrETEE HHES | STOE |

@ (R) : ‘arerhTa wHaes | Hifq far & fau w et ggfa @ S wiess |y ek
{e1-2130 GaEeE &1 930 foar o €
== fou U e | W 3T & T BN

(1) (A) W& & 2R (R) 7o &
(2) (A)7eTd & i (R) WEl §
(3) (A) 3R (R) SF1 @&l § 3R (R), (A) FI =& §
(4)  (A) &R (R) I T €

Options:-

.1, Option ID :- 805,
« 2, Option ID :- 806,
. 3, Option ID :- 807,

. 4, Option ID :- 808,
Answer Given:- 3, Option ID : -807

Question ID:- 203

Which of the following kingdoms was not annexed by the East India company under the ‘Doctrine
of Lapse” ?

(1) Jhansi
(2) Mysore
(3) Satara
(4) Nagpur




S Efew ot g gy ifa’ & wea T Terend & erfudes E foen e en ?

(1)
(2) TR
(3) HARI
(4) TG
Options:-

.1, Option ID :- 809,
. 2, Option ID :- 810,
. 3, Option ID :- 811,

« 4, Option ID :- 812,
Answer Given:- 2, Option ID : -810

Question ID:- 204

Which of the following statements about mineral resources is incorrect ?
(1) Copper is ductile and a good conductor of electricity

(2) Aluminium is obtained from a clay-like substance called Bauxite
(3) Tinis a Non-Ferrous mineral

(4) Hematite is the finest iron ore containing iron upto 70 percent

G s HHEEl & °R H fefafed § § 25 9 %5 wd @i e ?

(1) e g € oI fogd & g €

(2) UEgHiTEm, St THeE i S T | W g ¢
(3) for s T e wfe ®

(4) TARES UF PR AR 379 © fomd 70 wfoed el 2
Options:-

.1, Option ID :- 813,
« 2, Option ID :- 814,
. 3, Option ID :- 815,

. 4, Option ID :- 816,
Answer Given:- 3, Option ID : -815

Question ID:- 205

The Limited Test Ban Treaty (LTBT) signed in 1963 banned nuclear weapon tests

(1) Only in the atmosphere and outer space

(2) Only in the outer space and underground

(3) Only in the outer space and under water

(4) Only in the atmosphere, outer space and under water




Hifea e yfgsy @ (Ta 2 =t 21, foeae 1963 H wemar fer U 9, yeam] efemml o qdiem
¥ yicefera st 21

(1) <had agHed AR 9 siaia

(2) ke aEd e siv yfid

(3) haw JRd SAaie R O % T

(4) hoe SHEH, SR S SR g % A

Options:-

.1, Option ID :- 817,
« 2, Option ID :- 818,
. 3, Option ID :- 819,

. 4, Option ID :- 820,
Answer Given:- 2, Option ID : -818

Question ID:- 206

Among the following which metal is more reactive ?
(1) Copper

(2) Iron
(3) Zinc
(4) Gold

Frefafed § @ #F & urg i wfafwaria € 2

(1) dren
(2)
(3) TS
(4 @
Options:-

.1, Option ID :- 821,
« 2, Option ID :- 822,
. 3, Option ID :- 823,

« 4, Option ID :- 824,
Answer Given:- 2, Option ID : -822

Question ID:- 207

Which of the following is not present in the cytoplasm ?
(1) Mitochondria

(2) Golgibodies

(3) Ribosomes

(4) Nucleus




Shifent g9 H Frefafeg § 4 a2 safteq & gar €2
(1) wEHTE

(2) iiesil &=
(3) TEEEH
(4) H=FR
Options:-

.1, Option ID :- 825,
« 2, Option ID :- 826,
. 3, Option ID :- 827,

. 4, Option ID :- 828,
Answer Given:- 4, Option ID : -828

Question ID:- 208

Who among the following players won the FIFA World Cup 2022 “The Golden Ball” Award ?
(1) Kylian Mbappe

(2) Cristiano Ronaldo

(3) Lionel Messi

(4) Neymar

HIH deS &Y, 2022 § ‘Tiieed siel’ 1 JUEhR et § 8 fHE faerg) 5 s ?

(1) =feEs "
(2) Terfeear Areet
(3) st det
(4) FFHR

Options:-

.1, Option ID :- 829,
« 2, Option ID :- 830,
. 3, Option ID :- 831,

. 4, Option ID :- 832,
Answer Given:- 3, Option ID : -831

Question ID:- 209

Who among the following authors won the ‘Sahitya Akademi Yuva Puraskar” 2022 in Sindhi
language ?

(1) Geeta Pradeep Rupani
(2) Kirti Pradeep Rupani
(3) Monika Panjwani

(4) Heena Aswani




Teft v # ‘wifee stepredt g R 2022 fre=fafed 9§ § oy o J s 2

(1)  7fran werg warit

(2) =ifd werg wamof

(3) Hife1 dstaml

(4) B AT
Options:-

.1, Option ID :- 833,
« 2, Option ID :- 834,
. 3, Option ID :- 835,

« 4, Option ID :- 836,
Answer Given:- 3, Option ID : -835

Question ID:- 210

Which of the following computer languages uses mnemonics ?
(1) High Level Language

(2) Machine Language

(3) Assembly Language

(4) C Programming Language

Poreferfiad & @ # O Foge i Femifma’ & v w2

(1) & oEd s

(2) HA e

(3) STl Sas

(4) = grnfH o
Options:-

.1, Option ID :- 837,
« 2, Option ID :- 838,
. 3, Option ID :- 839,

. 4, Option ID :- 840,
Answer Given:- 4, Option ID : -840

Subject : RA_Q31-Q35_PGTHIS
Question ID:- 211

Choose the correct alternative that will continue the same pattern and replace the question mark
(?) in the given letter - cluster series.

HMS, MTB, SBL, ZKW, ?

(1) HVX
(2) HUI
(3) KVL
(4 HWM




T8 wdl fomey =1 =7 %L 5 & T SAa-we daen H 34 Ted il S W sin yw faw Q) A A
HMS, MTB, SBL, ZKW, ?

(1) HVX
(2) HUI
(3) KVL
(4 HWM

Options:-

.1, Option ID :- 841,
. 2, Option ID :- 842,
. 3, Option ID :- 843,

« 4, Option ID :- 844,
Answer Given:- 2, Option ID : -842

Question ID:- 212

Six friends Anuradha, Abha, Manisha, Monika, Rashmi and Sulekha are sitting around a circular
table facing outside the circle (not facing towards the centre). Anuradha is neighbour of Manisha
and Abha. Anuradha is sitting third to the right of Monika and is second to the left of Sulekha.
Manisha is sitting third to the right of Sulekha.

Who is sitting immediate right of Monika ?

(1) Sulekha
2)  Rashmi

(3) Manisha
(4) Abha

T Telorl, ST, ST, T, HifTenT, I it Geien U R 5] & =91 S0 (99 % &g %l SN
9 FTh) IL I ST HE HTh Aol & | ST, T SR 191 ) TS ¥ 1 ST, S % gl ofr di
T TR AR Gorar % 9t SR gHl T 1SS g8 € | T, goren e SR die w W St g ¥
e % Tehed i ST SIH <31 8 ?

(1) HerE
(2) W
(3) wm
(4) T
Options:-

.1, Option ID :- 845,
« 2, Option ID :- 846,
. 3, Option ID :- 847,

« 4, Option ID :- 848,
Answer Given:- 1, Option ID : -845

Question ID:- 213




‘B’ is to the North of “A” and to the West of ‘C’. In what direction is ‘C" with respect to ‘A" ?

(1) North-East
(2) North-West
(3) South-East
(4) South-West

‘B/A’ F I H B ol ufemm H L A o TR feen B £ 2

(1) SW-TH
(2) SH-9fY=H
(3) wfo-gd
(4) =faur-ufe=y
Options:-

.1, Option ID :- 849,
« 2, Option ID :- 850,
. 3, Option ID :- 851,

« 4, Option ID :- 852,
Answer Given:- 4, Option ID : -852

Question ID:- 214

You are given a question and two statements numbered (I) and (II) each containing some
information. Decide which of the statements is/are sufficient to answer the question.

Q: Ayush and Ranjan are standing at a distance of 20 km. They start walking towards each
other. After how much time will they meet if they keep walking ?

(I) : Ayush and Ranjan walk at the speed of 2 km/hr and 3 km/hr respectively.

(II) : The speed of walking of Ayush to Ranjan is 2:3.

(1) The statement (I) alone is sufficient to answer the question while the statement (II) alone is
not sufficient to answer the question.

(2) The statement (II) alone is sufficient to answer the question while the statement (I) alone is
not sufficient to answer the question.

(3) Both statements (I) and (II) together are necessary to answer the question.

(4) Both statements (I) and (II) together are not sufficient to answer the question.




= we w9 femn T ® foes 9w (1) &R (1) fou e @ fo e 8 3o Sed 1 T ') 9 fvl

IS for HF G/ F99 99 F SR 31 & forn vard &/ 2

T oIy SR {5 20 R &t gt W@ § 19 Us gHY T SIR Fo IF N ¢ | Al 3 we S @
dl fera w5 =% U gE § fiedi ?

(1) : =9 iR 59 w2 T A, oiv 3 frdd/d =t nfa § 39 81

(I1) : 3T 3T 59 & = HY M 2:3 7

(1) Tehel HUH-(1) B 99 %1 I A o oIl AT § Sfaifeh sTehed HgA—(11) 999 =1 S <4 o feft v
TE B

(2) TRel A~ (I1) T ¥ o1 I & o Tole 7T § Safeh 3Tehct Shef-(1) WeH o1 SR o o fare, oo
&l El

(3) THUA-(I) SR HeE- (1), T T THETsHt oA 1 W & F o svevas ¥

(4) FEA-(I) SR FE-(11), AT T Foer ot 9 1 IR 7 F fog w=iw 78 )

Options:-

.1, Option ID :- 853,
« 2, Option ID :- 854,
« 3, Option ID :- 855,

« 4, Option ID :- 856,
Answer Given:- 3, Option ID : -855

Question ID:- 215

In the following figure, the square represents lawyers, the circle represents judges, the triangle
represents girls and rectangle represents honest people.

10 14

\
6 12\ 8\ 15
9\ 13

20

Which number represents girls who are lawyers and honest but not judges ?
() 8




frfafes owg 9, ‘w0’ a@d w1, ‘ga’ s @, CBe aefEEl @ oiR o SaEeR |l #
yfafifie w2 2

10 14

N
6 12\ 8\ 15
9\ 13

20

FH O @ 3 A 5 i € o g SR $arer § fahg ot e €2

(1) 8
(2) 12
(3) 14
(4) 15

Options:-

.1, Option ID :- 857,
« 2, Option ID :- 858,
. 3, Option ID :- 859,

. 4, Option ID :- 860,
Answer Given:- 2, Option ID : -858

Subject : CL_Q36-Q40_PGTHIS

Question ID:- 216

Gagan Sen is planning to buy a new smartphone, which one of the following aspects should he not
be bothered about ?

(1) Operating system
(2) Ethernet Port
(3) Internal Memory
(4) Camera Pixels

T 9 T T4 FHEHRA GiieH @i s o9 @1 8 | 3 Fefafead 3 9 fee vee & e = 78
=fau ?

(1) ST faeew

(2) IUTR TR

(3) Eea HHR

(4) *E foea
Options:-

.1, Option ID :- 861,
« 2, Option ID :- 862,
. 3, Option ID :- 863,
. 4, Option ID :- 864,




Answer Given:- 2, Option ID : -862

Question ID:- 217

Which of the following ports will be most suitable for connecting High Quality Audio-Video output
on a PC/a laptop ?

(1) PS2
(2) USB
(3) VGA
(4) HDMI

ot o =t / 92T W 3T aTerel SAfedl-aifedl SSeye #l Hde &1 & ol Taifrs Sugad I i @1
g7

(1) i TH2(PS2)

(2) 4T (USB)

(3) @ St T (VGA)
(

4) uH €l UH AE (HDMI)

Options:-

.1, Option ID :- 865,
« 2, Option ID :- 866,
. 3, Option ID :- 867,

. 4, Option ID :- 868,
Answer Given:- 4, Option ID : -868

Question ID:- 218

is not a basic function of MS Excel.

(1) count()

(2) sum()

(3) min()

(4) multiply()

_ TUqTH A & ﬁﬁ'ﬂﬁﬁ TR (function) Ta Bl
(1) count()

(2) sum()

(3) min()

(4)  multiply()
Options:-

.1, Option ID :- 869,
« 2, Option ID :- 870,
. 3, Option ID :- 871,

« 4, Option ID :- 872,
Answer Given:- 4, Option ID : -872




Question ID:- 219

is the file extension of an Excel file ?

(1) excel

(2) xel

(3) xlsx

(4) xelx

Rl ToE $EE %1 FEd SR (file extension) TEI € 7

(1) excel

(2) xel

(3) xIsx

(4) xelx
Options:-

.1, Option ID :- 873,
« 2, Option ID :- 874,
. 3, Option ID :- 875,

« 4, Option ID :- 876,
Answer Given:- 4, Option ID : -876

Question ID:- 220

Which of the following is not an example of RDBMS ?
(1) MySQL

(2) ORACLE
(3) CALC
(4) IBM DB2

Tre=fafaa 9§ | %M 91 91 2t &l T9 T8 (RDBMS) &1 U 387 78] © 2

(1) MySQL

(2) ORACLE

(3) CALC

(4) 1BM DB2
Options:-

.1, Option ID :- 877,
« 2, Option ID :- 878,
. 3, Option ID :- 879,

. 4, Option ID :- 880,
Answer Given:- 4, Option ID : -880

Subject : UL_Q41-Q55_PGTHIS

Question ID:- 221




The ‘cephalo-caudal” principle status that development of the body spreads from :
(1) legs to head

(2) heads to legs

(3) the center of the body outward

(4) outward to the center of the body

‘Tthedl shitee’ fagia =8 s € 6 TR = fasmrd I B
(1) I fgw = eix

(2) TR E W& &R

(3) SRR % HeA H &l i SR

(4) @R H IR % T il 3R

Options:-

.1, Option ID :- 881,
« 2, Option ID :- 882,
. 3, Option ID :- 883,

« 4, Option ID :- 884,
Answer Given:- 2, Option ID : -882

Question ID:- 222

In the context of puberty, which one of the following is an absolutely correct option ?
(A) Estrogen and Progesterone are female sex harmones

(B) Androgens and Testosterone are female sex harmones

(C) Entrogen and Progesterone are male sex harmones

(D) Androgens and Testosterone are male sex harmones

(1) (B) and (C) are correct.
(2) (A) and (C) are correct.
(3) (A) and (D) are correct.
(4) (B) and (D) are correct.

ARy F g #, frefafeas § & wF-a1 fasey facga w@t 22
(B) UM 3R Tl HIe] W g ¢

(C) TS 3R Yrorgi =X Yoy g &

(D) UEH 3R TRReiF R He e &

(1) (B) &R (C) w&l €1
(2)  (A) di’r{ (C) W&l 21
(3) (A) s?ﬂ (D ) HEl
(4) (B) 3R (D) W& €1




Options:-

.1, Option ID :- 885,
. 2, Option ID :- 886,
. 3, Option ID :- 887,

« 4, Option ID :- 888,
Answer Given:- 3, Option ID : -887

Question ID:- 223

A teacher observes that his students are taller and heavier than before. On the part of the students,
it shows their

(1) growth

(2) maturation

(3) development
(4) morphogenesis

TS ST I8 ST © o SHF D1 U8t I T9e @dl IR 99FeR &1 BT F R T A8 TE/STE

B o I
1 s

(2) YRYsEH

(3) fam

(4) HET-fawE
Options:-

.1, Option ID :- 889,
« 2, Option ID :- 890,
. 3, Option ID :- 891,

« 4, Option ID :- 892,
Answer Given:- 4, Option ID : -892

Question ID:- 224

Which of the following is the correct options ?

(1) Learning and maturation are two processes through which growth occurs
) Progress and maturation are two processes through which growth occurs

(3) Maturation and learning are two processes through which development occurs
) Development and learning are two processes through which maturaion occurs

Frefafed § | #F-n fosrey W@ 82

(1) efermg ik gftgeas <1 gk ¥ fomes meam 3 gfig 3t 2
(2) I SiR uftvee < wiward § fomes wem 4 iy gt g1

(3) uftaea iR siferm & wfsrard € fmep mem & fasm a1
(4)

2

4) o &l «afim 1 gfswad € e wream | gftgess g €1

Options:-




.1, Option ID :- 893,
« 2, Option ID :- 894,
. 3, Option ID :- 895,

. 4, Option ID :- 896,
Answer Given:- 3, Option ID : -895

Question ID:- 225

Which one of he following studied the child’s responses to moral dilemmas ?
(1) Piaget

(2) Erikson

(3) Kohlberg

(4) Skinner

Trefafas 5 4 feres ames #i Afae gfaasil 9 ufafwan @1 st fFa ?

(1) T
(2) uREEA
(3) hicter
(4) T
Options:-

.1, Option ID :- 897,
« 2, Option ID :- 898,
. 3, Option ID :- 899,

« 4, Option ID :- 900,
Answer Given:- 3, Option ID : -899

Question ID:- 226

The cognitive aspects of the personality of an individual do not include his/her :
(1) motivation

(2) thinking

(3) attention

(4) perception

Tt =afem & =ifaa & SFaE Teq H ST e &8 81
(1)  shron

(2) o

(3) TAUM

(4) Y& A"
Options:-

.1, Option ID :- 901,
« 2, Option ID :- 902,




. 3, Option ID :- 903,

« 4, Option ID :- 904,
Answer Given:- 3, Option ID : -903

Question ID:- 227

Read the following :
(A) Among boys and girls, different parts of the body grow at same rate.
(B) Among boys and girls, same parts of the body grow at different rate.
(C) Among boys and girls, different parts of the body grow at different rate.
(D) Among boys and girls, same parts of the body grow at same rate.
Which one of the following is the correct option ?
(1) (A) and (D) are correct.
(2) (B) and (C) are correct.
(3) (C) and (D) are correct.

)

(4) (A) and (B) are correct.

fPrefafad % i :

(A) Tl i wefrdl H TR & fu-fim o we & @ w faefag €@ 8
(B) eigehl iR wreferal 8, e & T s fum=r-for= gr w fomrfa 2 )
(C) gl AR ereferal 8, JRR & fie-fu= e fam-fir <@ W fossfaa 2 €)
(D) e 3 @Rl H, YR o FHH 337 99H & W faefad 2n €1
frefefea 8 9 #F 9 fases w& €1

) (A) afﬂ(D HE B

) (B) 3R (C) |t T

3) (C) 3R DHE’T%*I

)

(1
(2
(<
(4) (A) 3R (B) T T

Options:-

.1, Option ID :- 905,
« 2, Option ID :- 906,
« 3, Option ID :- 907,

« 4, Option ID :- 908,
Answer Given:- 2, Option ID : -906

Question ID:- 228

Pre-school children trust on their parents as a secure base to explore the environment. This shows
their

(1) cognitive development

(2) social development
(3) emotional development
(4) moral development




Toremer gl STeteh SarERol =l Eisi o fog 319+ - ol = O gafard SR o &9 H foaeams #wd €1 I8
SR EEiar @

(1) HIEARHS o™

(2) HHISE famm™

(3) e TaehrE

(4) Afaer fawm
Options:-

.1, Option ID :- 909,
« 2, Option ID :- 910,
. 3, Option ID :- 911,

« 4, Option ID :- 912,
Answer Given:- 3, Option ID : -911

Question ID:- 229

A teacher gives a problem to adolescent students that “Xis taller than Y, Y is taller than Z then who
is the tallest’ ?

This teacher expects that this problem

(1) is too easy for the students as it requires symbohc thinking
(2) cannot to be solved by the students as it requires critical thinking
(3) can be solved by the students as it requires abstract thinking
(4)

4 should not be given to the students as it requires concrete thinking

U AT TR ©TE1 <l Uk Y99 odl & foh ' X, Y H el § &R Y, Z ¥ &l 8, dl Had Tl i &' 2
TE FATYH S H ¢ o Tw T

(1) Bl F foru HTH AW § Fifes SHH Ydiwcas fHaT &l STevdsd 2|

(2) B g Ee el foran s gewar Hife 39 fom selrrTeres foa S smavassa €

(3) oEl g g o S ekl © it 39 o s1gd feias &1 stmareaesan §1

(4) BE 1 T fean s e HHifE v fou ad o o smavgear 21

Options:-

.1, Option ID :- 913,
« 2, Option ID :- 914,
« 3, Option ID :- 915,

« 4, Option ID :- 916,
Answer Given:- 1, Option ID : -913

Question ID:- 230

in case of adolescents, the peers, parents and teachers have no influence on their :
(1) social development

(2) cognitive development
(3) physical development
(4)

4) emotional development




feroTi & Tt ©, Fewifedl, Ara-fuar iR 21e9s =1 7%

(1) HHISE famm™

(2) HIATRHF o

(3) wRIfEH faeprE

(4) e T
Options:-

.1, Option ID :- 917,
« 2, Option ID :- 918,
. 3, Option ID :- 919,

« 4, Option ID :- 920,
Answer Given:- 3, Option ID : -919

W HRE WY e g

Question ID:- 231

The word adolescence has been derived from the word “adolescene” which is a :

(1) TLatin word
(2) Greek word
(3) Japaneese word
(4)

4 African word

‘TEEE’ e 9 TS 8 g § Sl

(1) wfes
(2) WE
(3) STgE
(4) SAFTHI
Options:-

.1, Option ID :- 921,
. 2, Option ID :- 922,
. 3, Option ID :- 923,

« 4, Option ID :- 924,
Answer Given:- 2, Option ID : -922

THT =T Ueh I B

Question ID:- 232

The socialization agents support an individual in :

(1) learning

(2) confirmity

(3) communication
(4) growth




QTSI Fa fhdt =afa +i H gl F% g1

(1) eferm
(2) STI®dd
(3) HywO
(4 s

Options:-

.1, Option ID :- 925,
« 2, Option ID :- 926,
. 3, Option ID :- 927,

« 4, Option ID :- 928,
Answer Given:- 3, Option ID : -927

Question ID:- 233

Socialization helps an individual in establishing his/her :
(1) self-identity

(2) social identity

(3) group image

(4) community identity

grTsiteR fardt e ) SHh/SHH! Tfq & H HeEd Ll ¢
(1) E-T==H

(2) EHISF gg=H

(3) el

(4) FHIE TEH
Options:-

.1, Option ID :- 929,
« 2, Option ID :- 930,
. 3, Option ID :- 931,

« 4, Option ID :- 932,
Answer Given:- 2, Option ID : -930

Question ID:- 234

‘Shiksha Karmi Project’ of Rajasthan is :

(1) the name of professional development programme of school teachers

(2) concerned with identifying outstanding contribution of school teacher in education
scholarship programme for meritorious pre-service teachers

(3)
(4) a way to ensure community participation in formal education




TrsreT i foen i s ©

(1) hait TEATH o TER fawhrE FEHT 1AM

(2) Toan H Tpar AV & Ioh ATEH H GgHH H H Hated
(3) HHTET ol yd eI o T SEEi wriky

(4) i e # wem 1 yriedt gffea 0 & us i

Options:-

.1, Option ID :- 933,
« 2, Option ID :- 934,
. 3, Option ID :- 935,

« 4, Option ID :- 936,
Answer Given:- 2, Option ID : -934

Question ID:- 235

In India, home schooling is recognized by :

(1) NIOS
(2) CBSE
(3) IB

(4) ICSE

Rd H = H foren 27 (34 i) F1 fhEeh gRI A= Y8 1 S 2

(1) TA.3TE. 3T

(2) HIELTEE

(3) SE.AN

(4) SEH.THE
Options:-

.1, Option ID :- 937,
« 2, Option ID :- 938,
. 3, Option ID :- 939,

. 4, Option ID :- 940,
Answer Given:- 1, Option ID : -937

Subject : UTL_Q56-Q70_PGTHIS

Question ID:- 236

Which of the following statements is not true about curriculum ?

(1) Curriculum is a complete set and very broad in nature.

(2) Curriculum includes the planned and guided learning experiences.
(3) Curriculum is descriptive in nature.

(4) Curriculum is framed by high level educational experts.




T % 9§ S 9 FHYF el Tel 8 2

(1) =t U Wy §2 § aun forgd wen w7

(2) wRFEEE H Aeeg iR FRERE sifumm stqwe e 2 2
(3) URFEAH AU TWET H e ¢

(4) gl 3= &R % Hferes TRl gr aaR fma S e

Options:-

.1, Option ID :- 941,
« 2, Option ID :- 942,
. 3, Option ID :- 943,

« 4, Option ID :- 944,
Answer Given:- 3, Option ID : -943

Question ID:- 237

Which of the following is not commonly used approach for curriculum development ?
(1) Subject centred approach

(2) Community centred approach

(3) Child centred approach

(4) Life centered approach

grez=al fagm § frefafea § 9 $19 T S 1 r9a) W e T8 e s g 2
(1) Tama-+f=a sarm

(2) HHSE-hi=d SUNTH

(3) @TA-hi=d SURH

(4) SiEA-ohf=Ed 39H
Options:-

.1, Option ID :- 945,
« 2, Option ID :- 946,
. 3, Option ID :- 947,

. 4, Option ID :- 948,
Answer Given:- 2, Option ID : -946

Question ID:- 238

Which one of the following is the key to Competency Based Education ?
(1)  Acquisition of skill (s)

(2) Learning at one’s own pace
(3) Immediate feedback
(4)

4 Mastering learning




Frferfad 5 & =1 garn stenfa fa =6 fodrmr g 2
(1) =i 3Afsid T

(2) %=E ! A ¥ =G

(3) dche higd®

(4) eI SAferm
Options:-

.1, Option ID :- 949,
« 2, Option ID :- 950,
. 3, Option ID :- 951,

« 4, Option ID :- 952,
Answer Given:- 1, Option ID : -949

Question ID:- 239

" Assessment as learning * is :

(1) Partially teacher controlled
(2) Entirely teacher controlled
(3) Partially student controlled
(4) Entirely student controlled

‘arfer & ®Y W e ©
(1) iferer w9 9 3eges HEhE

(2) YUiaAl A o FHERE

(3) ifees w0 § v fEfEd

(4) i =1
Options:-

.1, Option ID :- 953,
« 2, Option ID :- 954,
« 3, Option ID :- 955,

« 4, Option ID :- 956,
Answer Given:- 2, Option ID : -954

Question ID:- 240

Which one the following can be most useful in developing a habit among children to search from
new knowledge from the familiar environment ?

(1) Text book

(2) Integrated text books
(3) Exposure to ICT
(4)

4) Exposure to real life situations




BHEI g Uifed I € 9| U 9 J @S w i oTed fasiad w3 ° fefafaa § 9 @ gaifus
IqART & ?

(1) HA-g&H

(2) HHfHd geT-g&Th
(3) oTE Wl & H SRR
(4) aTEfaes Sitee @i fEafadl st SHEr

Options:-

.1, Option ID :- 957,
« 2, Option ID :- 958,
« 3, Option ID :- 959,

« 4, Option ID :- 960,
Answer Given:- 2, Option ID : -958

Question ID:- 241

Main limitation of Computer Assisted Instruction (CAI) is that :
(1) TItis a self learning technique.

(2) Ituses mix of text, graphics, sound and videos.

(3) Its learning is too mechanical.

(4) it provides immediate feedback.

FPel FHIT SR (Hl T #1E) i 9@ aHl 7 ©

(1) I8 T - TohelF ¢

(2) =7 UTS, Withe, =t i difes & fagor =1 w=rm & €1
(3) =THeR ATy reAfuss WeiAT €1

(4) F€ Tk HiSdF GSH Hdl & |

Options:-

.1, Option ID :- 961,
« 2, Option ID :- 962,
. 3, Option ID :- 963,

« 4, Option ID :- 964,
Answer Given:- 2, Option ID : -962

Question ID:- 242

Which one of the following is not a characteristic of a teacher made test ?
(1) Norms are available for comparison.

(2) Helps identifying learning difficulties of pupils.

(3) Can contain Variety of items.

(4) Covers limited number of competencies.




Frefafes 8 | 20 srergs it wiem # e e 7@ €2

(1) g % fau gmde suesy £

(2) BE N Al Has wieEdl F1 TgEaE FE H I F
(3) =UH FE aE F Y9 Gimfera & ged 2 |

(4) Hiferd |0 | e B Het B |

2

Options:-

.1, Option ID :- 965,
« 2, Option ID :- 966,
. 3, Option ID :- 967,

« 4, Option ID :- 968,
Answer Given:- 4, Option ID : -968

Question ID:- 243

Which of the following may not be a part of strategy for preventing indiscipline ?
(1) Adoption of task oriented approach

(2) Provision of a long list of restrictions which you expect to maintain

(3) Evolving rules through discussion with students

(4) Praising/ Appreciating students for their good achievements

frafafad § & Fn SRmEEHa § g5 & WG & TH 97 T8 ¢ 2
(1) @S SYFH i ST

(2) wiaEH it s e gt o g 9 e v ¥

(3) BT o Wid T Heeh EH I

(4) B &I =] AT h foIT IhI FUH F

Options:-

.1, Option ID :- 969,
« 2, Option ID :- 970,
. 3, Option ID :- 971,

« 4, Option ID :- 972,
Answer Given:- 2, Option ID : -970

Question ID:- 244

Which of the following classroom practice is not an outcome of Behavior modification approach?
(1) Repetition without reinforcement does not enhance learning,.

(2) Punishment is very effective for eliminating undesirable behavior.
(3) Interest in work and improvement is conducive to learning.
(4) Variations in presenting the reinforces help modification of behavior.




Trafafea 5 9 M & Fa fF =raer uiEdT 3urM &1 U 9o T8l ¢ 2
(1) qFeer % forn g @ siftrm o gfig =@ &t 81

(2) STSISE SAAER I GHE FTA o AT G HIH GAET T
(3) = H w9 AR gur aftrm & fow gems 2 7
(4) YFeeR o7 H seeme | HeRR yREda | e fHed 7

Options:-

.1, Option ID :- 973,
« 2, Option ID :- 974,
. 3, Option ID :- 975,

« 4, Option ID :- 976,
Answer Given:- 2, Option ID : -974

Question ID:- 245

Which is not a characteristic feature of course delivery in “teacher centred approach’ ?
(1) Use of lecture method

(2) Summative tests

(3) Active learning

(4) No unit planning and unit test

“ syees Shfed S’ | faee g @, U SR O, i 6 © 2

(1) =aver fafy = g

(2) AFTIeHE qET

(3) Hfska srferm

(4) IS ToRTE AT 3 TR THIROT TE
Options:-

.1, Option ID :- 977,
« 2, Option ID :- 978,
. 3, Option ID :- 979,

. 4, Option ID :- 980,
Answer Given:- 4, Option ID : -980

Question ID:- 246

Read the following carefully :

(a) Students are working individually or in small groups.

(b) They are busy analyzing the identified theme within a pre-set time limit
(¢) They are dealing with ‘real life” problem.

Which method of teaching-learning is being followed ?

(1) Problem solving method

(2) Project method

(3) Discovery method

(4) Play way method




Frfafes #1 eargEs feu

(a) B ATFTT T A 2120 D1 TYe H FW F Q@ ¥

(b) o MU faroa-—awg &1 T Qe Fiia Taa-—wmm o ia favers & § =% 2 |
(c) & ‘arcafas Sfta’ it goemnel %1 9 R © €
foreqor-s1feprs =) & = fafy oo = @ %2

(1) gaen-gaeE fafy

(2) ufEmsE fafy

(3) @ fafy

(4) 9 fafy
Options:-

.1, Option ID :- 981,
« 2, Option ID :- 982,
. 3, Option ID :- 983,

« 4, Option ID :- 984,
Answer Given:- 1, Option ID : -981

Question ID:- 247

Which of the following restrictions will not be effective in making an essay type item as restricted
response item ?

Restriction to be imposed on :

(1) Length of response

(2) Content of response
(3) Duration of response
(4) Convergent thinking

ek fEHeas Y99 %l Ush Fifd wfafe=n w99 999 9 i 9 yfdey g9Et & 2l 2
gfaay fod 9 A S ?
(1) wfafwan =1 dar W

(2) ufafran =t fara-awg ®
(3) ufdfsean =kl s@fy @
(4) Sl e 1

Options:-

.1, Option ID :- 985,
« 2, Option ID :- 986,
. 3, Option ID :- 987,

. 4, Option ID :- 988,
Answer Given:- 4, Option ID : -988

Question ID:- 248




Which one of the following is not a characteristic of “integrated teaching’ ?
(1) Flexible student groupings

(2) Inflexible schedules

(3) Sources that go beyond textbooks

(4) Relationship among concepts

Fraferfad & & F7 @ ' wafE fam # o fada 78 22
(1) ereiten B JYEd

(2) TR-aEe wEEE

(3) WIA-TEE § T A

(4) Hehouasil o die HaY
Options:-

.1, Option ID :- 989,
« 2, Option ID :- 990,
. 3, Option ID :- 991,

« 4, Option ID :- 992,
Answer Given:- 2, Option ID : -990

Question ID:- 249

In the final analysis, the key to motivation in classroom is :
(1) The interest inherent in the subject matter

(2) The teacher’s personality and his/her teaching method
(3) The emotional climate of the classroom

(4) The suitability of curricular experiences in the class

sifem fagemmr #, Fan # sifviRo &t g3 &St -
(1) fom-awg ¥ ofafifeq &9
(2) AT 1 AR S IHET e fafy
(3) eI T TEHATHS ATATET
(4) =Rer H ygH=Al Sl SIyE i SYgdl

2

Options:-

.1, Option ID :- 993,
« 2, Option ID :- 994,
« 3, Option ID :- 995,

« 4, Option ID :- 996,
Answer Given:- 3, Option ID : -995

Question ID:- 250




Aptitude Tests measure :

(1) Potentiality

(2) Proficiency

(3) Likely success in a profession

(4) Achievement

e 9ieo /i §
(1)  Horea
(2) eI
(3) Tl o9t H Hwfoa awer
(4) i
Options:-

.1, Option ID :- 997,
« 2, Option ID :- 998,
« 3, Option ID :- 999,

« 4, Option ID :- 1000,
Answer Given:- 3, Option ID : -999

Subject : CCLE SOL PE_Q71-Q80_PGTHIS
Question ID:- 251

By following, which one of the actions, a school can act as a ‘learning resource’ for community ?
(1) By organizing educative movie shows in community

(2) By nominating teachers as members of all local civic bodies

(3) By organizing ‘discussion camps’ on social issues in community

(4) By inviting community people in science exhibitions in schools

= o 9 forg foran =1 1oy, U T 9ed & fean ‘ sifem &na’ o1 wear g 2
(1) S § e frew o eaifsa 3k

(2) it T feRrEl o foerenl w1 AT weh

(3) HHEA H WIS HEi W == g’ S #eh

(4) HYSE % WAl ke § faqm Al | i w5

2

Options:-

.1, Option ID :- 1001,
. 2, Option ID :- 1002,
. 3, Option ID :- 1003,

. 4, Option ID :- 1004,
Answer Given:- 4, Option ID : -1004

Question ID:- 252




How a community can contribute best to school as a ‘learning resource’ ?

(1) By selecting its best persons from all vocations to interact with students and teachers
(2) By effectively participating in P.T.A. meetings

(3) By donating generously for school development

(4) By providing free of cost, best technicians to build school labs ?

U FqeE faaed 1  eifm S’ F w9 § dne e yen € gea g 2

(1) T seErEl | g o =g & faenfeE o fresrl & @y st siafswan g
(2) sifqsmas foers el § gwrEt |9Eiert g

(3) RS % o T I YEF T SH

(4) Thel i FEARRIENE 1 oH o e ISay qeAish] Al Sl SR

Options:-

.1, Option ID :- 1005,
« 2, Option ID :- 1006,
. 3, Option ID :- 1007,

« 4, Option ID :- 1008,
Answer Given:- 2, Option ID : -1006

Question ID:- 253

As per WHO which one of the following is not an indicator of sound mental health ?
(1) Sense of Coherence

(2) Optimism
(3) Sense of Control
(4) Confidence

Toye Tarees GiTe % ITER 1% HATHeh e ol i 91 Tl 76 ¢ ?

(1) gHIfa = T8z

(2) HARMETE

(3) T = wHE

(4) ArcAfeTETE
Options:-

.1, Option ID :- 1009,
. 2, Option ID :- 1010,
. 3, Option ID :- 1011,

. 4, Option ID :- 1012,
Answer Given:- 1, Option ID : -1009

Question ID:- 254




How many types of disabilities have been identified through RPWD Act, 2016 ?
(1) 18

2 19
3) 21
4) 23

R Yl S5 I W (RPWD) 2016 7 foFa YR &l A&Haiadi =l s ?

(1) 18
(2) 19
(3) 21
(4) 23
Options:-

.1, Option ID :- 1013,
. 2, Option ID :- 1014,
. 3, Option ID :- 1015,

. 4, Option ID :- 1016,
Answer Given:- 3, Option ID : -1015

Question ID:- 255

Which one of the following member of school development planning committee is likely to contribute
minimum ?
(1) District inspector of schools

(2) Manager of an adjoining industry
(3) Parents of school children
(4) Professors of a nearby college

e fawm s afafa & 9 8§ 3 908 959 § 998 F0 9rEE F 99e8T 82
(1) Toen fommem fias

(2) e & 3EP & YaUH

(3) THel F=dAl & AfqUES

(4) Tehe o wEIfa=neTd o Grhet
Options:-

.1, Option ID :- 1017,
. 2, Option ID :- 1018,
. 3, Option ID :- 1019,

- 4, Option ID :- 1020,
Answer Given:- 2, Option ID : -1018

Question ID:- 256




Which one of the following can provide a good school leadership ?

(1) A teacher who has a mastery in communication

(2) A teacher who involves learners and seeks their partnership even in teaching
(3) A teacher who recently passed a course on school leadership with distinction
(4) A teacher who was elected as president of teacher association

991 H | HF-91 Tk ¥hel Tl 453 gcd Y& L Hehel @ ?

(1) U forere < diow g5

(2) U e S SAERHEAIA] i WGRT il 8 3T I foaro e | o wniee & 8
(3) u foers fo et 8 & et g W faviw A § uremsen oy fe #

(4) U foaes S foses Rug w1 9938 g e

2

Options:-

.1, Option ID :- 1021,
« 2, Option ID :- 1022,
. 3, Option ID :- 1023,

« 4, Option ID :- 1024,
Answer Given:- 2, Option ID : -1022

Question ID:- 257

In the present school scenario which role is generally not expected from a school teacher ?
(1) Curriculum designing

(2) Reflective practitioner

(3) Team builder and initiator

(4) Coach and mentor

TAHH Whe i Eerd § aeaa e § e e s wha e 3 e T & S 82

(1) Tre=A fam
(2) To=aa gui = @
(3) 2 A 3T YEAE HEAT
(4) AR TATE
Options:-

.1, Option ID :- 1025,
« 2, Option ID :- 1026,
. 3, Option ID :- 1027,

- 4, Option ID :- 1028,
Answer Given:- 3, Option ID : -1027

Question ID:- 258




The best role of a school teacher as a coach is reflected in the act of
(1) Curriculum planning

(2) Preparing students for examination

(3) Story telling

(4) Evaluating student’s performance

U HIF F Y H AAE T Feqq e fmad fead 82

(1) "rea=E fmio H

(2) ST %I GLET HI TR w H
(3) el A H

(4) ®TE I Ao o gedihd H
Options:-

.1, Option ID :- 1029,
« 2, Option ID :- 1030,
. 3, Option ID :- 1031,

« 4, Option ID :- 1032,
Answer Given:- 2, Option ID : -1030

Question ID:- 259

Ms. Nair, the language teacher was told by her Principal, “Our education minister has come through
this new technique of evaluation and he wants us to implement it immediately.” This is an example

) Demonstration Model

(2) Grassroot Model
) Administrative Line Staff Model
) Activity Model

91 forerss g off AR 1 3% wrErE A e, g e w95 w6 geaiea w1 3w i fafy @ ua =en g SR a
=Ted & o &9 39 kel ar] | I8 e Sget & 2

(1) 9<eH wfomm =1

(2) e YfaHE

(3) emElTE wEE giade &6

(4) Tifafafy gfeds

Options:-

.1, Option ID :- 1033,
. 2, Option ID :- 1034,
. 3, Option ID :- 1035,

« 4, Option ID :- 1036,
Answer Given:- 3, Option ID : -1035

Question ID:- 260




The most suitable stage to develop analytical and critical thinking among students is :
(1) Primary level

(2) Middle school level

(3) Secondary school level

(4) Senior secondary school level

FE H faveraurees qu1 FaEgArees fHad famfa s 8 Haifus Suge &R § 2
(1)  wnafier Tpa &1

(2 fafeq o &R

(3) HEAHE T T

(4) dftes HrEAfds T &

Options:-

.1, Option ID :- 1037,
« 2, Option ID :- 1038,
. 3, Option ID :- 1039,

. 4, Option ID :- 1040,
Answer Given:- 3, Option ID : -1039

Subject : HIST_Q81-Q180_PGTHIS

Question ID:- 261

Given below are two statements, one labelled as Assertion(A) and the other labelled as
Reason(R) :

Assertion(A) : The Harappans took care of their need of water and paid attention to
water management.

Reason(R) : A large number of wells were dug at Mohenjo-daro.

In the context of the above statements which of the following is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.

1 € wrerres fou T §, f9H 8w o e (A) 2R g5 1 SRROT (R) e TR ¢

M (A) : TSHI Sk Wl Y STA-HATILThdT 1 2 W& 9 T Sod-Ja-4 o Gid-siiees 9|
WHRUT (R) : HieTsigs 4 98 e 8 $U gear ™ 9|

Sy & sl & e | frefefes § @ s-ma@ 22

(1) (A) 7 (R) 31 5&t € 371 (R), (A) i TEI =0 B

(2) (A) @1 (R) ST W& €, W (R), (A) FI WEl @A TR S
(3) (A) Gel &, % (R) 7d 2 |
(4) (A) TeAd €, 9 (R) HEl 2




Options:-

.1, Option ID :- 1041,
. 2, Option ID :- 1042,
. 3, Option ID :- 1043,

« 4, Option ID :- 1044,
Answer Given:- 1, Option ID : -1041

Question ID:- 262

A naked torso image of stone which is famous for its sculpting technique has been found
from which Harappan site ?

(1) Harappa

(2) Mohenjo-daro
(3) Kalibangan
(4)

4 Dholavira

R FAfHT Wk 57 Shee Jfd, S ST9AT T8I0 dekriieh o ford faeard &, frd sewii™ v | WId g8
g7

(1) ==

(2) HETSICE!

(3)  ehTEIE

(4) e
Options:-

.1, Option ID :- 1045,
. 2, Option ID :- 1046,
. 3, Option ID :- 1047,

« 4, Option ID :- 1048,
Answer Given:- 2, Option ID : -1046

Question ID:- 263

Who among the following was NOT included in the list of Panchavaggiya monks to whom
the Gautama Buddha gave his first Sermon ?

(1) Mahanama
(2) Mahakassapa
(3) Kaundinya
(4) Vappa




Frfafad § § o 37 Jafr fygel § afafag & o, [ wied 98 3 o709 39 seiaesn
Team an?

(1) #Her[ ™

(2) HeEREY

(3) whifre

(4 ==
Options:-

.1, Option ID :- 1049,
« 2, Option ID :- 1050,
. 3, Option ID :- 1051,

. 4, Option ID :- 1052,
Answer Given:- 4, Option ID : -1052

Question ID:- 264

Which of the following is NOT the part of the a Buddhist Stupa ?

(1) Anda

(2) Vedika

(3) Harmika
(4) Sukanasika

forrferfiad & & S g w0 @ s T8 2

() s

(2) ofem

(3)

(4) gFHATEH
Options:-

.1, Option ID :- 1053,
. 2, Option ID :- 1054,
« 3, Option ID :- 1055,

. 4, Option ID :- 1056,
Answer Given:- 4, Option ID : -1056

Question ID:- 265

The credit of bringing the Arthasastra of Kautilya to light by his text and translation goes
to:

(1) R. Shamashastri
(2)  Julius Jolly

(3) K.P. Jayaswal
(4) William Jones




Shifeed o AUV I 97 Jel Ud TAIE 5 WhTl § & 1 97 fohd San € 2
(1) ST ST
(2) Sfed She

)
(3) .9l STEHEET
(4) fafermm SiFa

Options:-

.1, Option ID :- 1057,
. 2, Option ID :- 1058,
. 3, Option ID :- 1059,

. 4, Option ID :- 1060,
Answer Given:- 4, Option ID : -1060

Question ID:- 266

Which of the following Tirthankaras is considered to be a female Tirthankara according
to Svetambara tradition ?

(1) Neminatha
(2) Naminatha
(3) Mallinatha
(4) Chandraprabha

YA T % AR Fefafe drefmt & 8 S Sl diefe gt s € 2

(1) A
(2) AT
(3) Hieer
(4) ==IH
Options:-

.1, Option ID :- 1061,
. 2, Option ID :- 1062,
. 3, Option ID :- 1063,

. 4, Option ID :- 1064,
Answer Given:- 4, Option ID : -1064

Question ID:- 267




Who among the following Mauryan rulers gifted caves to the Ajivikas ?
() Chandragupta

(i) Asoka

(i) Dasaratha

(iv) Samprati

Select the correct answer from the code given below :

(1) (i) and (ii) only

(2) (i) and (iii) only

(3) (iii) and (iv) only

(4) (), (i) and (iii) only

Freafafed § 9 fr e el 3 ersiifaenl & fae Te-3m fem 2
() =F=IA

(i) 3Tk

(iii) T¥RY

(iv) Feid

=1 fe2 T4 Re i HErHdl § Wl ST Bl AL H

(1) e (i) I (i)

(2) e (i) A (iii)

(3)  haE (iii) 3R (iv)

(4)  FE (i), (i) S (i)
Options:-

.1, Option ID :- 1065,
« 2, Option ID :- 1066,
« 3, Option ID :- 1067,

. 4, Option ID :- 1068,
Answer Given:- 2, Option ID : -1066

Question ID:- 268

Who among the following Gupta rulers issued golden coins with the lowest percentage of
gold ?

(1) Budhagupta

(2) Narasimhagupta
(3) Skandagupta
(4)

4 Vishnugupta




Frefafaa § 9 o T v § we w0 @l gfed o wE@i-faes s 2
(1) I«

(2) e
(3) TRIE
(4 foorTE
Options:-

.1, Option ID :- 1069,
. 2, Option ID :- 1070,
. 3, Option ID :- 1071,

. 4, Option ID :- 1072,
Answer Given:- 3, Option ID : -1071

Question ID:- 269

Gupta coins exhibitnot only variety of types but of metals as well. Who among the following
rulers issued coins of gold, silver, copper and lead ?

() Samudragupta

(i) Chandragupta-II

(i) Kumaragupta-I

(iv) Skandagupta

Select the correct answer from the code given below :
(1) (i) and (ii) only

(2) (i) and (iii) only

(3) (ii), (iii) and (iv) only

(4) (i), (i), (iii) and (iv)

[ UTERT | A hed A= YRRl ek fafay aqei o foes s fed | fefafaa § 9 fea
Y]+ T, Hiel, dien U i gt "igsii & s S fed 2

(i) EHETA

(i) —FEI-II

(iii) FHARIC-1

(iv) FHR<Td

1= &% T e 1 Herdd § WE I H = B

(1) = (i) 3R (i)

(2) Fae (i) AR (iii)

(3) oA (i), (iii) S (iv)

(4) )
Options:-

.1, Option ID :- 1073,

« 2, Option ID :- 1074,
. 3, Option ID :- 1075,




. 4, Option ID :- 1076,
Answer Given:- 3, Option ID : -1075

Question ID:- 270

Match List-I with List-II and choose the correct answer from the code given below :

List-I List-II
(Jain Councils) (Their Presidents)
(a) Pataliputra Council (i)  Arya Skandila
(b) Mathura Council (i) Devardhigani Kshamasramana
(c) Vallabhi, I8t Council (i) Nagarjunasuri
(d) Vallabhi, I1"d Council (iv) Sthulabhadra

@ () (9 (@

M 0O @ @) @)
(2 @ @ @) @
(3 @) @ () (i)
(4) Gv) @ (@) (@

it - 1 1 Gt - 119 Yoferd Hifse o = fe2 7 e %1 Gerdd 8 Wl St 1 =97 Hife
-1 T - 11

(I ST ) (3o 31eTer)
(a) ey A= () I Whicd
(b) T STEAT (i) <afefor s
(c) deHl, e Al (iff) AR
(d) dcadr, fgdE s (iv) *gA9g
e

(@ () (o (d)
1) @O @ @) @)
(2) (@ (@) @v) ()
G @) @ @) @
4) (v) @) @) ()
Options:-

.1, Option ID :- 1077,
. 2, Option ID :- 1078,
« 3, Option ID :- 1079,

. 4, Option ID :- 1080,
Answer Given:- 3, Option ID : -1079

Question ID:- 271




Match List-I with List-II and choose the correct answer from the code given below :

List-I

(Country)
(a) Gandhara
(b) Yavana
(c) Suvarnabhumi
(d) Aparanta
Code :

@ ((®) (9

M O @
(2) (@) G@v) (i)
() @) @ i
(4) @) @ (v)

—
—

=3
—

v
E
=

List-II
(Missionary)
(i) Yavana Dharmarakshita
(i) Sona and Uttara
(iii) Majjhantika
(iv) Maharakshita

el - 1 1 =it - [1 8 GAfad shifse o == 53 718 e i 9eEdl § Fal St &l =91 Rl :

gt -1

(<9r)
(a) TMHER
(b) F&
() Haiyfa
(d) @I
e

(@ () (9
(H @ @ ()
(2) (@) (v) (i)
@) @) 6 G
4) (@) @ (@v)
Options:-

.1, Option ID :- 1081,
. 2, Option ID :- 1082,
. 3, Option ID :- 1083,
. 4, Option ID :- 1084,

Answer Given:- 2, Option ID :

(d)

-1082

T - 11

( g )
() T gEfEE
(i) M TE W
(i) =R
(iv) HerfEd

Question ID:- 272




Arrange chronologically the following famous Vaishnava personalities :
() Nathamuni

(i) Ramanujacharya
(i) Vallabhacharya
(iv) Vedantadesika

Select the correct answer from the code given below :

(L) (@) (), (i), (iv)
(2) (1), (1), @v), (3
(3) (@) (i), (v), (i)
(4) (i), (i), @ () (iv)

Frfefad Sora-fayfa =t fafasmraram saferm wifa
(i) e
(i) THHSTEE

(iii) FeAITETd

(iv) deFefh

e fed 74 e i HErEdl @ W S H FIH Hifo ;
(1) (@), (i), (i), (iv)

(2) (i), (i), (v), (1)

(3) (@) (i), (iv), (iii)

(4) (i), (i ) () (iv)

Options:-

.1, Option ID :- 1085,
« 2, Option ID :- 1086,
. 3, Option ID :- 1087,

. 4, Option ID :- 1088,
Answer Given:- 4, Option ID : -1088

Question ID:- 273

Which of the following Harappan sites has yielded a copper chariot ?

(1) Mandi

(2) Sanauli

(3) Ropar

(4) Bhagwanpura




Treferfed | 4 frg gowa gueee § sl 1 Uk 19 9T g7 @ 2

() At

(2) EAmER

(3) I

(4) SEEgU
Options:-

.1, Option ID :- 1089,
« 2, Option ID :- 1090,
. 3, Option ID :- 1091,

« 4, Option ID :- 1092,
Answer Given:- 4, Option ID : -1092

Question ID:- 274

Which of the following Harappan sites was established for harnessing a particular
semi-precious stone ?

(1) Harappa

(2) Lothal
(3) Shortughai
(4) Dabarkot

Frefefad # 8 ford SS9 R &1 U 319 YR & SH-shAd T2k sl S9ar i  fou
wrfue fepan T o1 ?

(1) =s™
(2) <
(3) e
(4) TIARHIE
Options:-

.1, Option ID :- 1093,
« 2, Option ID :- 1094,
. 3, Option ID :- 1095,

. 4, Option ID :- 1096,
Answer Given:- 3, Option ID : -1095

Question ID:- 275

Which of the following metals contributed in a good measure in the development of
Harappa civilisation ?

(1) TIron
(2) Copper
(3) Geold
(4) Silver




w9yl o faem # frefafea § | form ug &1 98 T9H W FreH o1 ?

(1) <’
(2) =
(3) HF
(4) =
Options:-

.1, Option ID :- 1097,
. 2, Option ID :- 1098,
. 3, Option ID :- 1099,

. 4, Option ID :- 1100,
Answer Given:- 2, Option ID : -1098

Question ID:- 276

According to the Dharmashastras one’s status in the social hierarchy is based on :
(1) Dharma

(2) Artha
(3) Varna
(4) Satta

SHTE o STER G SeRE H St i gel e gr i e o ;

(1) =
(2) =9
(3 @0
(4) @
Options:-

.1, Option ID :- 1101,
. 2, Option ID :- 1102,
. 3, Option ID :- 1103,

. 4, Option ID :- 1104,
Answer Given:- 3, Option ID : -1103

Question ID:- 277




Given below are two statements, one labelled as Assertion(A) and the other labelled as
Reason(R) :

Assertion(A) : Gupta kings issued largest number of gold coins.

Reason(R) : Economic condition of the general people during that period was very
good.

In the context of the above statements which of the following is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false

(4) (A) is false, but (R) is true

== <1 e fow T €, S B U R U (A) AR $HL %1 SRIOT (R) el AR ¢
e (A) : T U A FEH ISl G@ | | o faeh Sl Ry
HIUT (R) : 39 e | S G711 it onifdfen  feafa aga st off |
3y &1 Teel & e # frefafea § 4 o9 wed 22

(1) (A) @ (R) SFi 92T € 2R (A) =t |E =97 (R) T

(2) (A) T (R) ST W& §, T (R), (A) FI T e 7@ <
(3) (A) W&l 8, T (R) TTewd 2

(4) (A) T € Hg (R) 7 <

Options:-

.1, Option ID :- 1105,

. 2, Option ID :- 1106,

. 3, Option ID :- 1107,

« 4, Option ID :- 1108,
Answer Given:- 1, Option ID : -1105

Question ID:- 278

Arrange the following in chronological order :
(i)  Beginning of idol worship in Buddhism
(i) Emergence of Mahajanapadas
(i) Repair of Sudarshan Lake
(iv) End of Satavahana State
Choose the correct answer from the code given below :
(1) (i), @), (i), (iv)
(2) (), (@v), (1), (@)
(3)  (iv), (id), (i), (i)
(4) () (i), (i), (iv)




frrfafead =1 FerFd § sFaferd e ;
() g e § gftgsn 1 yRey

(i) HETSIYG] W 3qHd

(iii) FEIF A 1 SAVIER

(iv) HIER T

=1 feu U She H WE I FE Hifor
(1) (@), (@), (i), (iv)

Options:-

.1, Option ID :- 1109,
« 2, Option ID :- 1110,
. 3, Option ID :- 1111,

« 4, Option ID :- 1112,
Answer Given:- 1, Option ID : -1109

Question ID:- 279

Arrange the following in the chronological order :
(i) Ashvaghosha

(i) Silppadikaram

(iiif) Megalithic culture

(iv) First inscriptional evidence of decimal system
Choose the correct answer from the code given below :

(1) (), @), (iv), (@)

(2 (v), (i), (i), (i)

(3) (i), (i), (@), (iv)

(4) (), (iv), (i), (i)

Fr=ferfad =1 wengsa | sHafer sifsn
(i)  AvaEN

(i) fereafEwrH

(iii) HRTATSIUA Rl

(iv) TOTHETE YUTel @1 99 SAfierdia yEmm
= fau T He F WE I FH =TI Hifod
(1) (), (i), (‘ ) (if)

(2) (), (i1 i), (iii)

(3) (1), (i), (1), (iv)

(4 (@), @ ) ( ii), (ii)

Options:-




.1, Option ID :- 1113,
. 2, Option ID :- 1114,
. 3, Option ID :- 1115,

. 4, Option ID :- 1116,
Answer Given:- 1, Option ID : -1113

Question ID:- 280

Arrange the following yugas in the chronological order :
(i) Dwapara

(i) Treta
(ii) Krita
(iv) Kali

Choose the correct answer from the code given below :
(1) (i), (1), (i), (iv)
iit), (ii), (i), (¢
)

(2 o v)
(3) (@), (), (i), (i)
(4) @), Gv), (i), (i)

Frefafed g = wemss § safeem wifa
) B

(i) >
(i) Hd
(iv) =fd
=1 feu e he § | W I H =TI Hif

(1) (i), (), @), (v)
(2) (i), (i), @), (i)
@) @w), () (i), @
(@) @) (v), (), (i)

Options:-

.1, Option ID :- 1117,
« 2, Option ID :- 1118,
. 3, Option ID :- 1119,

« 4, Option ID :- 1120,
Answer Given:- 2, Option ID : -1118

Question ID:- 281




Arrange the following in a chronological order :

() Mahajanapada

(i) Jana

(i) Empire

(iv) Janapada

Choose the correct answer from the code given below :

(1) (i1), (i), (1), (iv)
(2) (i), @), (1), (i)

(3) (i), ( ) (iv), (i)

(4) (), (i), (), (iv)

\_/‘h_i

FrrAferfad o1 Frenprd § sraferd Hifs ;
() eSS

(i) M

(iii) R

(iv) SIS

=1 fau U She H WE IO I FE il :
(1) (i), (i), (i) (iv)

(2) (i), ( i), (iii)
(3) (i), (1), (iv), (i)
(4) (i), (i ) (i), (iv)
Options:-

.1, Option ID :- 1121,

. 2, Option ID :- 1122,

. 3, Option ID :- 1123,

. 4, Option ID :- 1124,
Answer Given:- 3, Option ID : -1123

Question ID:- 282

Arrange the following in a chronological order :
(i) Panini
(i) Vikram Samvat
(i) Kharavela
(iv) HuenTsang
Choose the correct answer from the code given below :
(1) (1), (i), (iv), (iii)
), (iv), (i), (i

(2) @ )
(3 @), (i), (i), (iv)
(4)  Gid), (@), (iv), ()




(i) fespm Hag
(i) WRAA
(iv) EETET
= feU ¢ She H © W S H T RS
(1) (@), (i), (iv), (i)
(2) (i), @v), (i), (1)
(3) (1), (i), (i), (iv)
(4) (i), (i), (iv), (i)
Options:-

.1, Option ID :- 1125,
« 2, Option ID :- 1126,
. 3, Option ID :- 1127,

. 4, Option ID :- 1128,
Answer Given:- 2, Option ID : -1126

Question ID:- 283

Ashoka’s contemporary king of Macedonia was :
(1) Alexander

(2) Antigonas Gonatas

(3) Magas

(4) Ptolemy Philadelphus-II

[

F9eh < HHETE HETSIA1 &l TSl o1
(1) eRIFiet

(2) TRRIEH M

(3) wH

Options:-

.1, Option ID :- 1129,
. 2, Option ID :- 1130,
. 3, Option ID :- 1131,

. 4, Option ID :- 1132,
Answer Given:- 4, Option ID : -1132

Question ID:- 284




Who among the following is considered as the father of Greek history writings ?

(1) Homer

(2) Herodotus
(3) Thucydides
(4) Xenophon

Frefefad 8 Q #1F M sfem-aa %1 S 1 ST 2 2

(1) B
) eI
(3) egHiEEeE
(4) SHEBHA
Options:-

.1, Option ID :- 1133,
« 2, Option ID :- 1134,
. 3, Option ID :- 1135,

. 4, Option ID :- 1136,
Answer Given:- 3, Option ID : -1135

Question ID:- 285

Which of the following statements regarding the code of Hammurabi is correct ?

() Penalties were extremely severe

(ii) Forgiveness and extenuated circumstances can mitigate the punishments

(iii) When a man dies, his property is divided between his sons but his widow had the
privilege of using the fruits of his property

(iv) A man may divorce his wife without giving her anything if she misbehaved

Choose the correct answer from the code given below :

(1) (i) and (ii) only

(2) (i) and (iii) only

(3) (i), (i) and (iii) only

(4) (i) (), (iii) and (iv)




gyt o faft wfear & def § | -1 eE 18 9782

(i) BT &AW FBR T |

(i) &R ud e aRRefmEi gvs i %8 i Hehdl of |

(iii) oo forelt g%w =1 g St ot 1 39t weafd w1 favTem 39 PE § 21 S o fohe 35t
farere =l 38 |rfd o @9 o HET 1 YEUHE Al

(iv) IS go9 3701 U ol o o T deteh § Hehal o, AfE o8 geiaer ol off 1

1= T3 19 he 1 HerHdl § Wl T 1 =AA hifed

(1) = (i) 3R (i)

(2) SEe (i) 3R (iii)

(3) Ha (i), (ii) SR (i)
@) () (i), (iif) SR (iv)
Options:-

.1, Option ID :- 1137,
« 2, Option ID :- 1138,
. 3, Option ID :- 1139,

. 4, Option ID :- 1140,
Answer Given:- 3, Option ID : -1139

Question ID:- 286

Aramaic language became widely spoken in Mesopotamia after which of the following
time period ?
(1) 1400 BCE

(2) 1000 BCE
(3) 700 BCE
(4) 500 BCE
sRAEE o foega &9 9 TEefra ¥ g 9 F 9 et S o 2
(1) 1400 €13
(2) 1000 . 3.
(3) 700 SLELE
(4) 500 S
Options:-

.1, Option ID :- 1141,
« 2, Option ID :- 1142,
. 3, Option ID :- 1143,

. 4, Option ID :- 1144,
Answer Given:- 3, Option ID : -1143

Question ID:- 287




The year of 69 CE is known as a notorious year in the Roman history because :
(1) The empire suffered loss of huge territories in war

(2) Suffered huge loss in trade
(3) There was widespread loss of crops
(4) Four emperors mounted the throne in succession

UrA sfaer™ # 69 W5, &1 9 Teh F&a a9 o 9 H S Sl § i -
(1) HEHE %l Fg § 9 -9 =i &ifd g2 |

(2) = M I e @i g8 |

(3) o UHM 9T A I B g3

(4) UF % 9 TH IR AEF FHeEEg gy |
Options:-

.1, Option ID :- 1145,
« 2, Option ID :- 1146,
. 3, Option ID :- 1147,

. 4, Option ID :- 1148,
Answer Given:- 4, Option ID : -1148

Question ID:- 288

Which of the following centuries is known as the historical watershed between the early
and late phases of the Roman Empire ?

(1) Second century

(2) Third century
(3) Fourth century
(4) Fifth century

Frefafaa § 9 9 9t vaes grftes 9 39 397 9esa & o9 5 tfaefas faarses o 2

(1) et wrarest
(2) el TS
(3) =g T
(4)  TEH ST
Options:-

.1, Option ID :- 1149,
« 2, Option ID :- 1150,
. 3, Option ID :- 1151,

. 4, Option ID :- 1152,
Answer Given:- 3, Option ID : -1151

Question ID:- 289




Mesopotamian language and script was adopted by several regions after 2000 BCE but
one of the following was not among them. Identify it :

(1) Turkey
(2) Egypt
(3) Northern Syria

)
(4) Turkmenia

gt & an | fafy 2000 = S F ST HE W< - gR STYAE s, Uy frefafed |
TS 3ITH WA 6l 911 3! GedH hify :

(1) TH

(2) Taw

(3) I i

(4) gehHTE
Options:-

.1, Option ID :- 1153,
. 2, Option ID :- 1154,
. 3, Option ID :- 1155,

. 4, Option ID :- 1156,
Answer Given:- 3, Option ID : -1155

Question ID:- 290

In how many stages the epic of Mahabharat was given the final form ?

(1) One stage
(2) Two stages
(3) Three stages

=y

(4) Four stages

HEIYNd Hehea &l fhaq = § sifam &y fogr man ?

(1) T =
(2) &=
(3) o =
(4) =T
Options:-

.1, Option ID :- 1157,
. 2, Option ID :- 1158,
. 3, Option ID :- 1159,

. 4, Option ID :- 1160,
Answer Given:- 3, Option ID : -1159

Question ID:- 291




Manuscripts in Sanskrit overwhelmingly come from which of the following regions ?
(1) South India

(2) Northern India
(3) Central India
(4) Western India

Hepa ygfafvar frefafed § vgea: frg 49 3 fior &2

(1) =feor wra

(2) SO0 WA

(3) = URA

(4) OfeFHl YRA
Options:-

.1, Option ID :- 1161,
« 2, Option ID :- 1162,
. 3, Option ID :- 1163,

. 4, Option ID :- 1164,
Answer Given:- 2, Option ID : -1162

Question ID:- 292

Given below are two statements, one labelled as Assertion(A) and the other labelled as
Reason(R) :

Assertion(A) : A large number of urban settlements experienced decline during the early
medeival period.

Reason(R) : There was a decline in trade and economy in general.

In the context of the above two statements which of the following is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false

(4) (A) is false, but (R) is true

1= <1 gy fou U ¥ | UF F HwUT (A) IR I FT HNT (R) FE T
HeA (A) : U HEHFICH W H e 1 9] G H g g

T (R) : W T 4 AR 9 SAdeae] § 5| g |

S0 SFI gFaeAl o Hey H frefafaa § 9 &F 1 wd 22

(1) (A) 3 (R) ST ®E € 3T (R), (A) 1 WET AL

(2) (A) ¥R (R) T = E, 6 (R), (A) F W@ owEen 7w/ 2
3) (A) ¥ ¥, g (R) T B
4) (A) 7§ TR (R) W&t )

Options:-




.1, Option ID :- 1165,
« 2, Option ID :- 1166,
. 3, Option ID :- 1167,

. 4, Option ID :- 1168,
Answer Given:- 1, Option ID : -1165

Question ID:- 293

The ceremonies of sijda and paibos were introduced by which of the following Delhi
Sultans ?

(1) Balban

(2) Alauddin Khalji

(3) Muhammad Bin Tughlaq
(4)

4)  Firuz Shah Tughlaq

Tr=fafed | § feeelt & ford goam + fGsier iR Jaig i 9&1 9y =1 ?
(1) dasd

(2)
(3) Hewe fom qreh
(4) TS W e
Options:-

.1, Option ID :- 1169,

. 2, Option ID :- 1170,

. 3, Option ID :- 1171,

. 4, Option ID :- 1172,
Answer Given:- 1, Option ID : -1169

Question ID:- 294




Match List-I with List-IT and select the correct answer from the code given below the
lists.

List-1 List-II

(Organisational framework (Role)
of sufi orders)
(a) Wilayat (i) Teacher
(b) Murid (ii) Spiritual territory
(c) Wali (iii) Disciple
(d) Pir (iv) A successor nominated by a Pir to carry out his
work

Code :

@ ® (9

N @ ) @O @
(2) @) @) @ @
G) @ @) @) @
4) Gv) @ @) ()

T - 1ot eIt - 11 9 goford shifsi sik g o =i feu T e § | Hel 33 1 997 i :

= -1
(gt faafaet @ HeeTae aren) ( yfent)
(a) foremr (1) e
(b) Tig (i) smeAfaTER &9
(c) dat (i) ferea
(d) TR (iv) OR = T A % forg, IR g Amifed
SR
W -
(@ () (o ()
(1) @@ @) @ ()
(2)  (v) () @) ()
(3) (@) (@) @v) ()
4) (v) @ (@) (i)
Options:-

.1, Option ID :- 1173,
« 2, Option ID :- 1174,
. 3, Option ID :- 1175,

« 4, Option ID :- 1176,
Answer Given:- 2, Option ID : -1174

Question ID:- 295




Which of the following scholar saints compose/write in Sanskrit ?
() Ramanuja

(i) Madhava

(iif) Vallabha

(iv) Jnanesvara

Select the correct answer from the code given below :

(1) (@), (i) and (iif)

(2) (i), (iii) and (iv)
(3) (1), (m) and (iv)
(4) (@), G (i), (iv)

Frreferfad § & for fagm el 3 Gema o & T &1 2

(i) TS
(i) HEE
(i) dedH
(iv) FHIE
e feu T e # | WE 3R H FAA i :
(1) (), (ii) SR (i)
(2) (i), (i) 3R (iv)
(3) (i), (iii) ¥ (iv)
) (@), (i) (i), (iv)
Options:-

.1, Option ID :- 1177,
« 2, Option ID :- 1178,
. 3, Option ID :- 1179,

. 4, Option ID :- 1180,
Answer Given:- 3, Option ID : -1179

Question ID:- 296

Which one of the fo]lnwing was NOT the slave of Muizzuddin Muhammad Bin Sam
Muhammad of Ghur) ?

(

(1) Qutbuddin Aibak
(2) Tajuddin Yalduz
(3) Bakhtiyar Khalji
(4)

4 Malik Bahauddin Tughril




Frafafead #§ § 7 qe5EH gewe 59 9m (9esie /) &1 [am &8 o172
(1) Fag T
(2) TNIGEI TGS

3) @Efiear s
(4) wicrr JREesA IR
Options:-

.1, Option ID :- 1181,
. 2, Option ID :- 1182,
. 3, Option ID :- 1183,

. 4, Option ID :- 1184,
Answer Given:- 4, Option ID : -1184

Question ID:- 297

Which of the following statements are correct about the Sultanate wazir ?
(i)  During the early Sultanate period, the wazirs were primarily military leaders

(i) Inthe fourteenth century, the wazir began to be considered more an expert in revenue
affairs

(i) Khan-i Jahan, a converted Tailang Brahman, was choosen by Firuz Tughlaq as his
wazir

(iv) Khan-i Jahan-II played the role of king-maker after the death of Firuz Shah Tughlaq
Select the correct answer from the code given below ;

(1) (i) and (ii) only
(2) (i) and (iii) only
(3) (i) and (iv) only
(4 @) (@), @), 1)

e & et S H e H 8 90 § FuA w9l § 2

() YRFYF Goad e § g ged: 99 ygE o |

(i) =eed ITeal H oY eh! TSI Al o faras /T S Rl |

(i) WH-T S8, T gHufEfdd e siEv, w1 s qers 5 S9a1 Fs/¢ s |

(iv) @H-T seF T 3 R e g &1 gog % Sue fahmiee (Ten faafan) =t gfge

372 i |
1 feu T ke H 9 Wl I A FFA HIW
(1) W(i)aﬁz(ﬁ)
) (i) 3 ()
(3) A (i) 3T (iv)
4 @) (i), (i), (iv)
Options:-

.1, Option ID :- 1185,
« 2, Option ID :- 1186,




. 3, Option ID :- 1187,

. 4, Option ID :- 1188,
Answer Given:- 3, Option ID : -1187

Question ID:- 298

Which of the following Afghans sided with Rana Sanga in the battle of Khanwa ?
() Mahmud Lodi

(i) Hasan Khan Mewati

(iii) Nasir Khan Lohani

(iv) Daulat Khan Lodi

Select the correct answer from the code given below :

(1) (i) (iii) and (iv)
(2) (i), (iif) and (iv)
(3) () and (i

(4) (i) and (i)

wHal % g3 H, Frefafed § § 9 9 1% Fefi= on 9im & gy giafed ge 9 ?

() weHg o
(i) &HT @ Hawdl
(ifi) THR @ e
(iv) e @ e
=1 fou 7T She H | W IO I T i :
(1) (@), (i) 3 (iv)
(2) (i), (i) 3 (iv)
(3) (i) S (i)
(4) (i) SR (i)
Options:-

.1, Option ID :- 1189,
« 2, Option ID :- 1190,
. 3, Option ID :- 1191,

« 4, Option ID :- 1192,
Answer Given:- 4, Option ID : -1192

Question ID:- 299

Which of the following roads was NOT constructed/repaired by Sher Shah ?
(1) Grand Trunk road from Indus to Sonargaon

(2) Road from Agra to Jodhpur and Chittor

(3) Lahore to Multan

(4) Multan to Sind linking the road to the sea ports of Sind




Freferfad § | $iF 9 ggh-qri &1 FEiv/maEd S R T8l i 0 ot ?

(1) fdy @ grmeTe 9 e 3F s

(2) SR § SUqR iR faxie 7% # 9SE

(3) WRR ¥ e

(4) T899 % ggETaeAl *l Siredl 9o § 599 9% 99%
Options:-

.1, Option ID :- 1193,
. 2, Option ID :- 1194,
. 3, Option ID :- 1195,

. 4, Option ID :- 1196,
Answer Given:- 3, Option ID : -1195

Question ID:- 300

Match List-I with List-Il and select the correct answer from the code given below the

lists.

List-I List-II
(Authors) (Persian Texts)

(a) Gulbadan Begum (i) Igbalnama-i Jahangiri
(b) Mutamad Khan (i) Maasir-i Alamgiri
(c) Saqi Mustaid Khan (iii) Padshahnama
(d) Qazwini (iv) Humayun Nama
Code :

@@ (b) (o (4
L @ @ @) (@)
2) (@) (v) @ @)
3 (v) @ @@ ()
(4) (v) (@) @ @




A - 1 %1 el - 1 9§ gafad $ifSe ok gfedi & 919 fou 70 e § § 98§ s @ 997

T
T - 1 et - 11
(viEe ) (wIEt Ter )
(a)  TETEET ST ()  SHETEHTHI-T SR
(b) HIAS @M (i) WeNfER-T swErT
(c) T G T (i) T
(d) T (iv) EETLA
<
(@ () (9 (d)
M @ @ @) (i
(2) (@) @Gv) @ ()
3) (@v) @ @) (i)
(4) (v) (@) @) @
Options:-

.1, Option ID :- 1197,
« 2, Option ID :- 1198,
. 3, Option ID :- 1199,

« 4, Option ID :- 1200,
Answer Given:- 4, Option ID : -1200

Question ID:- 301

Consider the following statements :

(i)  After performing his moming devotions he (Akbar) showed himself from a window
on the first floor of the palace

(1) A large crowd of all classes of people assembled outside the palace wall and could
submit their petitions to the emperor

(i) The practice was known as Jharokha darshan

(iv) Some Hindus neither drank nor ate until they had seen the emperor. They were
known as Darshaniyas

Select the correct answer from the code given below :
(1) (iii) and (iv) only

(2) (i) and (i) only

(3) (1), (ii) and (iii) only

(4) (@) (i), (if), (iv)




Freferfad smemi g foram it

(i)  HIE i AU ek foransti o1 WU=1 % o SUU 98 (STheY) ST Heel i ael! Hreie
=i fagst & =i T an

(i) TR T F G AL vire SHh Hew 1 AR o SIet U Bl off 3R STt o7/
TorhTrd STeE o T e o |

(iii) & FT SRIET < Fardr off |
(iv) F® feg 79 7% $9 GO-Td 76l & 59 76 & FG9E % S¥H Tal P ofd 9| 3% <A HEl

ST T |

= feu U e | ¥ WE I T4 HIfC
(1) FFe (iii) 37K (iv)

(2) (u)dih )

(3) HAE (i), (i) T (i)

(4) () (), (i), (iv)

Options:-

.1, Option ID :- 1201,
« 2, Option ID :- 1202,
. 3, Option ID :- 1203,

. 4, Option ID :- 1204,
Answer Given:- 3, Option ID : -1203

Question ID:- 302

Consider the following statements :

Statement-I: A whole body of literature, known as Akhlaq (etiquette) grew up in
medieval Iran and India. Akhalag-i Nasiri of Nasir al-Din Tusi was an
[ranian work written in the first half of the thirteenth century.

Statement-1I :  Akhalag-i Jahangiri was the first major work on etiquette compiled under
the Mughals by Nur al-Din Qazi al-Khagani.
Select the correct answer from the code given below :
(1) Statement-I is true, but Statement-II is false
(2) Statement-I is false, but Statement-II is true
(3) Both Statements I and II are true
) Both Statements I and II are false

(




FrreAferfaa weei W fomr wifs

HUT-1: HEAHE 209 iR 9IRd H, wifec s T qoi faen, S sraens (freEn) weerd
off, faefad gg1 edl sl % yom qaid ¥, v R orEs THR ga-<H 5
SGAF-T G F1 T T TS |

HUT - 11 : el & UHTRIA H L 3A-SH HISil AA-@reprHl g o= 01 gom qgego
A, SFATH-T eI, Henfere fewan )

== feu 7y s H § W@ I A FIA B

(1) wYA-19E g, foeg HYF- 117700 ¢ |

(2) HEF- 17 &, forg oA - T B

(3) HUA- I R 11 HT T § |

(4) HUT-1 R I 7o 2

Options:-

.1, Option ID :- 1205,
. 2, Option ID :- 1206,
. 3, Option ID :- 1207,

. 4, Option ID :- 1208,
Answer Given:- 1, Option ID : -1205

Question ID:- 303

Which of the following classical works on music was translated into Persian during Firuz
Shah Tughlaq's reign ?

(1) Sangitasiromani

(2) Sangitaratnakara

(3) Man Kautuhal
(

)
4) Ragadarpan

Torlis T i 3 et ¥, Frefofaa 3 9@ g & frg serfusts (arsia) e =1 sEr
ERE e § fepan e ?

(1)  SfraferRmo

(2) HATACTERT

(3) HF A

(4) TR
Options:-

.1, Option ID :- 1209,
. 2, Option ID :- 1210,
. 3, Option ID :- 1211,

. 4, Option ID :- 1212,
Answer Given:- 2, Option ID : -1210

Question ID:- 304




Which of the following jagirs under the Mughals were held hereditary and permanent by
the nobles ?

() Tankhwah jagir

(i) Watan jagir

(iii) Altun Tamgha jagir

Select the correct answer from the code given below :

(1) (i) and (ii)

(2) (i) and (iii)
(3) (i) and (iii)
(4) () (i), (i)

et & v, Frefafea 8 9w o it ol w1 Sed we el w9 gem o s o 2
(i) TSR ST

(i) & SR
(i)  STERT T WA
= feu U e H § wE IR & TG Hif
(1) (i) 3 (i)
(2) (i) SR (i)
(3) (i) 3 (i)
(4) (), (i), (iii)
Options:-

.1, Option ID :- 1213,
« 2, Option ID :- 1214,
. 3, Option ID :- 1215,

- 4, Option ID :- 1216,
Answer Given:- 2, Option ID : -1214

Question ID:- 305

Which of the following ranks and the titles of the Mansab holders is NOT correctly matched ?

Rank (Mansab) Title
(1) Below 100 zat Ahadis
(2) Below 500 zat (Ordinary) mansabdar
(3) 500 to 2500 zat Amirs
(4) Above 2500 zat Amir-1 Umda




Frefefed § 9 o 9 el o graeenl @ Sl g8 gafed ==& &2

ug (TTE ) St
(1) 100 STE % = S
(2) 500 ST & T - (9HF) HAEEER
(3) 500 ® 2500 S - IR
(4) 2500 59 ¥ FW - STHR-T 3R]
Options:-

.1, Option ID :- 1217,
. 2, Option ID :- 1218,
. 3, Option ID :- 1219,

. 4, Option ID :- 1220,
Answer Given:- 1, Option ID : -1217

Question ID:- 306

In 1580 which of the fo]lowing_ system was introduced by Akbar in the land revenue ?
(1) Dahsala
)

(2) Karori experiment
(3) Kankut
(4) Nasaq

1580 H, freafefaad § 9, - ot i O) e S{heR g1 AR & E ?

(1) <gHrEl

(2) UL FEM

(3) =HT%d

(4) =HEH
Options:-

.1, Option ID :- 1221,
. 2, Option ID :- 1222,
. 3, Option ID :- 1223,

« 4, Option ID :- 1224,
Answer Given:- 1, Option ID : -1221

Question ID:- 307




lists.
List-I
(Revenue Term)
(a) Jamadami

(b) Hal-i Hasil
(¢) Takhfif-i Dami
(d) Mal-o-jihat

Code :

(@ (b) (9
(1) @) @Gv) @)
(2) (v) (#D) (i)
(3) @) @ @)
(4 Gv) () ()
et - [ =l gt - 11 H
FHife

Tt - 1

(TreRa yrsTaer
(a) SR
(b) TEA-UBIHA
(c) TEHRT-T St
(d) Te-si-ferm
C

(@ () (9
(D) @) @) @
(2) (iv) (D) (i)
(3) @ @ @)
4) @) @ @
Options:-

.1, Option ID :- 1225,
« 2, Option ID :- 1226,
« 3, Option ID :- 1227,

« 4, Option ID :- 1228,
Answer Given:- 4, Option ID : -

Match List-I with List-II and select the correct answer from the code given below the

List-II
(Meaning)

(i) Reduction allowed to a jagirdar in case of below
expectation revenue collection

(ii) Land revenue and other taxes
(iii) Estimated Revenue
(iv) Actual revenue collection
(d)
i
b
i)
i)
gife wifse @ik g & 99 e woHe § W s o 9

ot 11
) ( aref)

(i) RN H 7 USE U 8 9L SIER il g2 3
(@) g T =

(i) TR TSRS
(iv) drdtoes T e

1228

Question ID:- 308




Consider the following statements :
(i)  Muhammad al-Shafi'i, founder of the Shafi’i system of jurisprudence, was a Quraysh
(i) His teacher was Malik bin Anas at Medina

(i) He formulated his own ideas on the basis of and in opposition to the teachings of
Malik, Abu Hanifa and Al-Shaybani

Select the correct answer from the code given below :
(1) (i) and (ii) only

(2) (i) and (iii) only

(3) (i) and (iii) only

(4) (1) (i), (i)

Frrferfaa weai v fomm #ifs

(i) HEHg FA-YE, fafERret w1 URE WO o+ GErdes, T W 4

(i) HeA H 37k foierer Afcres foq o9 91

(iii) Hfers, 379 I TR S-S w1 st & fagg ot 37 AR W 3= @ & faen

yfcarfed fera
== fou U s H ¥ WE ST Al I hifoU :
(1) 9 (i) ST (i)
(2) A (ii) AR (iii)
(3) oA (i) W (iii)
(4) (@), (i), (i)
Options:-

.1, Option ID :- 1229,
« 2, Option ID :- 1230,
. 3, Option ID :- 1231,

« 4, Option ID :- 1232,
Answer Given:- 3, Option ID : -1231

Question ID:- 309

The tradition of authentication of Hadis through chain of narrators was known as :
(1) Nahda

(2) Isnad
(3) Thsan
(4) Awarif




B9 o] GUFRAIA! (narrators) Tl @ % FRI HANIG L shi T Hagardl o ?

(1) &=
(2) AR
(3) F=EH
(4) =R

Options:-

.1, Option ID :- 1233,
. 2, Option ID :- 1234,
. 3, Option ID :- 1235,

. 4, Option ID :- 1236,
Answer Given:- 2, Option ID : -1234

Question ID:- 310

Who were Bedouins ?

(1) Military commanders
@)

(3) Camel-nomads

(4) Settled agriculturalists

Horse-traders

g A 92

(1) = aAfusrd
(2) EISi % =R
(3) Se-wHEEE
(4) PR T

Options:-

.1, Option ID :- 1237,
. 2, Option ID :- 1238,
. 3, Option ID :- 1239,

. 4, Option ID :- 1240,
Answer Given:- 4, Option ID : -1240

Question ID:- 311

The chiefs of the Mongol Dada Ulus traced their descent from which of the following
Khagan (Qa-an) ?

(1) Qublai

2) Ogedei

3) Chaghatai

4)  Qara Khitai

P




HHiTe SET Sed % HeAeE Tdl ST 591 w1 Ga TR @ § s © 2
(1) e

(2) @ires

(3) =R

(4) =0 faas
Options:-

.1, Option ID :- 1241,
. 2, Option ID :- 1242,
. 3, Option ID :- 1243,

. 4, Option ID :- 1244,
Answer Given:- 3, Option ID : -1243

Question ID:- 312

Consider the following statements :
(i)  The Scythians were creators of animal art
(i) The Scythian art had influenced the Assyrian natural art

(iii) In contrast to Assyrian art, which flourished on the walls of the palace, Scythian art
was the culture of nomadic life

Select the correct answer from the code given below :

(1) (i) and (iii) only

(2) (i) and (iii) only
(3) (i) and (ii) only
(4) (@) (i), (i)

Frefefad weai 9t foar sifs ;

()  HiferA gy faEm o giesa 9|

(i) HifeE fesmren 3 SHifEa wrfas faseren ©= yuE orel |

(iii) TR feseren & ga §, S wea @i darl T Fell-Fel, S faswen eEeeei

3 e =1 gt off |
= feu 0 e | | WE S A FIA BT
(1) e (i) S (iii)
(2) FAA (i) AR (iii)
(3) e (i) SR (ii)
(4) (@), (i), (iii)
Options:-

.1, Option ID :- 1245,
« 2, Option ID :- 1246,
. 3, Option ID :- 1247,

. 4, Option ID :- 1248,
Answer Given:- 4, Option ID : -1248




Question ID:- 313

The island of Bombay was acquired by the English East India Company in 1668 from ?
(1) Maratha

(2) Mughal

(3) Portuguese

(4) French

S 1 219 1668 H iy $w sfoean st 3 frad wifaa foean 2

(1) TRIEST ¥R §

(2) TS OTEEH A

(3) geRmferl |

(4) R 9
Options:-

.1, Option ID :- 1249,
« 2, Option ID :- 1250,
. 3, Option ID :- 1251,

. 4, Option ID :- 1252,
Answer Given:- 3, Option ID : -1251

Question ID:- 314

Ryotwari Settlement was introduced in the :
(1) Bengal and Bihar region

(2) Central India and Punjab
(3) South and Seouth Western India
(4) Gangetic Valley and North-West Frontier provinces

FAATE] SIaE el A g o412

(1) el us fomr &9 4

(2) A NG a1 goE o

(3) =& ud famr-ufves g |

(4) T EET UE SR afeEdt i wiq |
Options:-

.1, Option ID :- 1253,

. 2, Option ID :- 1254,

. 3, Option ID :- 1255,

. 4, Option ID :- 1256,
Answer Given:- 3, Option ID : -1255

Question ID:- 315




Who was the last subedar of Bengal appointed by the Mughal emperor ?
(1) Alivardi Khan
) Sarfaraz Khan
(3) Murshid Quli Khan
(4) Shujauddin Mohammad Khan

T YMER g e ST 1 SAf<H Gear i o1 ?
(1) Seltasl @M

(2) FETS @H

(3) e el wm

(4) YSEEH HiewE @M

Options:-

.1, Option ID :- 1257,
« 2, Option ID :- 1258,
« 3, Option ID :- 1259,

. 4, Option ID :- 1260,
Answer Given:- 3, Option ID : -1259

Question ID:- 316

Match List-I with List-II and select the correct answer from the code given below :

List-I List-II
(Author) (Work)
(a) Surendranath Banerjea (i)  History of the Bralimo Samaj
(b) Maj. Gen. Shahnawaj Khan (i) India Old and New
(c) Sir Valentine Chirol (iif) My Memories of LN.A and Its Netaji
(d) Sivanath Sastri (iv) A Nation in Making
Code
@ ®) (© (@
1) Gv) @) @ @
2 @ @) @ ()
(G O @ @ @)
4) @) @ @) (@




ol - 1#h1 =il - 11 < |12 YHfold shifse 91 =i foU T 362 ot Je@dl 8 Wl ST =97 it ;

(1)

2)
3)
)

e T e O

T g1/
(1)

Options:-

.1, Option ID :-
. 2, Option ID :-
. 3, Option ID :-

. 4, Option ID
Answer Given:-

30 SR 1765
17 |14 1765
12 3FTE 1765
5 Al 1766

1265,
1266,
1267,

- 1268,

3, Option ID

gt - 1 g - 11
(o ) (")
(a) FETY oSl () &=l o § arwl qEe
(b) TSR-SF. WEAETS @H () gfewmslee g g
() ™ FeferEa fale (i) HF HEIST ST 3. TL.Q. S §2H AT
(d) Tormmer gt (iv) o7 T 7 Bl
< :
@@ () (@ ()
() Gv) @) @) ()
(2) @ Gv) @ ()
@) O @) @ )
4) (@) () (v) (i)
Options:-
.1, Option ID :- 1261,
« 2, Option ID :- 1262,
. 3, Option ID :- 1263,
. 4, Option ID :- 1264,
Answer Given:- 1, Option ID : -1261
Question ID:- 317

The English East India Company got Diwani Rights from Emperor Shah Alam-II on which
of the following dates ?

30 January 1765
17 March 1765
12 August 1765
5 February 1766

frefafaa § § S fafy 51 Sfiew S sfreq s 31 R srey fada @ Sart &1 sfasn

1 -1267




Question ID:- 318

Who was defeated in the Battle of Wandiwash and by whom on 22 January 1760 ?
(1) The British forces by the French

(2) The Portuguese forces by the British
(3) The French forces by the British
(4) The Dutch forces by the British

22 SRl 1760 1 FiSEamt & 4G § fhon forgent guan ?

(1) fafew v = widifo 3
(2) geedt e el fafeer A
(3) TR ®Is i farfesr 5
(4) =9 %9 # fafew A
Options:-

.1, Option ID :- 1269,
. 2, Option ID :- 1270,
. 3, Option ID :- 1271,

. 4, Option ID :- 1272,
Answer Given:- 1, Option ID : -1269

Question ID:- 319

The capital of Sikh power under Maharaja Ranjit Singh was :
(1) Patiala

(2) Lahore
(3) Kapoorthala
(4)  Faridkot

TERTST WrSid T8 & et § g 9mae st Tsam off -

(1) ufesmen

(2) RR

(3) XA

(4) THUEHE
Options:-

.1, Option ID :- 1273,
. 2, Option ID :- 1274,
. 3, Option ID :- 1275,

. 4, Option ID :- 1276,
Answer Given:- 2, Option ID : -1274

Question ID:- 320




The practice of sati in India was abolished by :
(1) Lord Clive

(2) Lord William Bentinck

(3) Lord Cornwallis

(4) Lord Dufferin

(&)

gIEd § Tl v =1 37 e § | T R 2

(1) e FaEd

(2) e fafeem dfdw

(3) TS HFEATEH

(4) TE THRA
Options:-

.1, Option ID :- 1277,
« 2, Option ID :- 1278,
. 3, Option ID :- 1279,

. 4, Option ID :- 1280,
Answer Given:- 2, Option ID : -1278

Question ID:- 321

Who among the following is known for suppression of thugs in India ?
(1) Robert Bingley

(2) Capt. Sleeman

(3) Col Todd

(4) Lord Lake

=1 § | 9Rd § 270 1 aH K1 9 fhgen] S g ?

(1) TEe fEre

(2) A wEA

(3) Fa S

(4) IS @®
Options:-

.1, Option ID :- 1281,
. 2, Option ID :- 1282,
. 3, Option ID :- 1283,

. 4, Option ID :- 1284,
Answer Given:- 2, Option ID : -1282

Question ID:- 322




Tipu Sultan was defeated and killed in which one of the following battles ?
(1) 1%t Carnatic War

(2) 15t Anglo-Mysore War

(3) 4™ Anglo-Mysore War

(4) 39 Anglo-Mysore War

=

Tr=fafed | | fre g5 # 219 goam ol 81 F §og, 1 GHA el 9281 7
(1) 999 FAiew I3

(2) ¥ el - TR 75
(3) e Te-HR 5
(4) SRR g

Options:-

.1, Option ID :- 1285,
« 2, Option ID :- 1286,
. 3, Option ID :- 1287,

. 4, Option ID :- 1288,
Answer Given:- 3, Option ID : -1287

Question ID:- 323

Given below are two statements, one labelled as Assertion(A) and the other labelled as

Reason(R) :

Assertion(A) : Indian indentured system was introduced in 1834 to recruit labourers to
work on contract on sugarcane plantations in British Colonies.

Reason(R) : The purpose of introduction of indentured system was to provide relief
from poverty and famines in 19" century India.

In the context of the above two statements which of the following is correct ?
) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

) (A) is true but (R) is false

) Both (A) and (R) are false




= < T 53 T €1 ek 1 wT (A) SR EY R HIROT(R) FE T ;

HOA (A) : YRA H AFEEd F9gl (indentured) ST o1 U 1834 H Toran 1 fower a&d
Torfewr Sufemei & 7711 SeTHl § MR | Aot Wdl fohdl =1 5o |

ST (R) : S Heigl e 1 WRe § O 1 o1 aread 19907 St # =it svehreti | ifed
TS| <l TEd foet & o1l

YU B aaael o Hedl # fFrefafad § 9 s vl 22

(1) (A) X (R) 31 98T € 2i (R), (A) = && =5re B

(2) (A) 3R (R) ST T E, A (R), (A) F T& e TE T

(3) (A) W& 2 @feRa (R) TTeTd B

(4) (A) 3R (R) SFI T € |

Options:-

.1, Option ID :- 1289,

« 2, Option ID :- 1290,

. 3, Option ID :- 1291,

. 4, Option ID :- 1292,
Answer Given:- 3, Option ID : -1291

Question ID:- 324

Match List-I with List-II and select the correct answer from the code given below :

List-I List-II
(Author) (Work)
(a) Ramachandra Guha ()  Gandhi’s Truth
(b) Bhikhu Parekh (i) Gandhi’s Religious Thought
(c) Margaret Chatterjee (iii) Gandhi’s Political Philosophy
(d) Erik H. Erikson (iv) Gandhi Before India
Code :
@ () (9 (@)
1) G @ @) @
(2) (@) @) @ @
G O @ @) @
@ @ @O @) (b




ol - 131 it - 11 < |1 YHford shifse a9 = iU 73 ke ot el § Ha&l St il =97 hifed :

g - 1
(E® )
REEERG
firg T
oRi-Ye Jesl
TR TE. TR

e

(b)
)

(i)
(i)
Oy

D=
S . T T®

3
4

e —

Options:-

.1, Option ID

- 1293,

. 2, Option ID
. 3, Option ID :-

« 4, Option ID :-
Answer Given:-

- 1294,

1295,

1296,
2, Option ID

T - 11

(ua)

() T g
(i) THIS Reffaary gie
(iii)y eI GifcrRisheT fHeTar®l
(iv) T4l feHR ghear

(d)

(i)

()

(i)

(1i1)

:-1294

Question ID:- 325

Match List-I with List-II and select the correct answer from the code given below :

List-I List-11
(Authors) (Books)
(a) Maulana Abul Kalam Azad (i) Hind Swaraj
(b) Dada Bhai Naoroji (i) India Wins Freedom
(c) Bal Gangadhar Tilak (iii) Poverty and Unbritish Rule in India
(d) Mahatma Gandhi (iv) Arctic Home of the Aryans
Code :
@ ®) ( (@
1) @ @) @) @
2 @ @ (@) (i)
@) @) @ @ (@)
4) @) @ @O @)




TR - 11 Gt - 11§ gifer i ot i el 7 e § wf 3w &1 = s
AT - I gl - 11

(eEF ) (g% )

(a) WA HgA HaH FASE (1) fER TS
(b)  TTETHE RIS (i) sfrea fow wigm
(c) arel TR faas (i) UEE] UUE TSN ¥ T TfveAn
(d) T e (iv) 3Mehfesh B 31t <t s
< :

@@ () (9 (d)
(1) @) (@) G@v) @
2 @ @ @) @)
¢ () @ @ G
4) (@) @ @ @)

Options:-

.1, Option ID :- 1297,
. 2, Option ID :- 1298,
. 3, Option ID :- 1299,

. 4, Option ID :- 1300,
Answer Given:- 1, Option ID : -1297

Question ID:- 326

Which among the following were parallel but NOT alternative streams of agitation ?
()  The Ghadar Movement

(ii) The Civil Disobedience Movement

(i) The Indian National Army

(iv) The Royal Indian Navy Revolt

Choose the correct answer from the code given below :

(1) (i) and (ii) only

(2) (1), (i) and (iv) only
(3) (i) and (iv) only

(4) (i), (iii) and (iv) only




Freafafed § 9 #9199 gaiR & W Sefcrsr siden &l R & off 2
(i) TR S

(i) wfeTa stE eAeeH

(iii)  RAT T HAT

(iv) el W A faEe

= feu 7w e | W@ W g

(1) Ra (i) 99T (id)

(2) FE (i), (iii) 9T (iv)

(3) KA (ii) T (iv)

(4) A (i), (i) T (iv)
Options:-

.1, Option ID :- 1301,
. 2, Option ID :- 1302,
. 3, Option ID :- 1303,

. 4, Option ID :- 1304,
Answer Given:- 4, Option ID : -1304

Question ID:- 327

Chrenologically arrange the following social legislations on the basis of their enactment :
(i) India ActV, that declared slavery to be illegal in India
(i) The Act XXXI, opened inheritance to Christian converts
(i) Regulation VI, which declared child sacrifice to be a murder
(iv) Regulation XVII, that declared Sati to be illegal in Bengal Presidency
Choose the correct answer from the code given below :
(1) (i), (iv), (i), (i)
(2) (), (), (), (i)
(3 (@) (i), (iv), (i)
(4)  Gid), (1), @), (1)

Treferfaa amarres sfaf el 1 37F ar] 81 % YR 92 FHITHHTER Haferd HIfe
() Efew e v oA vra H TErdt # g 1 e =i fm

(i) T XXXI e 39 efufiadenl o fore fawma =1 g femen

(iii) faf7m vI faed a=i =1 afa =1 g =it o 7

Gv) Tafrm xvi foad smer Sfaat § gt war 1 e st o =

=1 feu U She H | Wl I H GG Hiteg

(1) (), (iv), (1), (i)

(2 ({v), (@), (i), (i)

(3) (@), (), (), (i)

(4) (i), (i), (v), (i)




Options:-

.1, Option ID :- 1305,
. 2, Option ID :- 1306,
. 3, Option ID :- 1307,

. 4, Option ID :- 1308,
Answer Given:- 2, Option ID : -1306

Question ID:- 328

Given below are two statements, one labelled as Assertion(A) and the other labelled as

Reason(R) :

Assertion(A) : The Fort William College started in 1800 was aimed at training ‘writers’
and ‘cadets’ for East India Company’s employment.

Reason(R) : Sir William Jones’s primary aim at studying Sanskrit studies was to create
a Digest of Hindu Law for judiciary.

In the context of the above two statements, which of the following is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) (A)is true, but (R) is false

(4) (A) is false, but (R) is true

Frfafad 3 o7 €| TH 6l | (A) T THL 1 ShROT (R) Fel T §

HU (A) : T 1800 H YRY gU WIS fafcrad shiersl Sl 3¢avd 352 Efedl Ut & USFR & ferw
“orEe qen e o ufvreTor AT an

HROT (R) : T Taferay Si-g &1 &k & 2 % Y@ 3w Aadias 4 &g wrH =
HR-HUE =d KT o)

ST FAl o Hel J Frfafad § § S 9 w8 22

(1) (A) 91 (R) BF1 T&l € a91 (A) &1 Hel TIishv (R) &

(2) (A) T (R) S & € TR (A) 1 TE TR (R) TE 2

(3) (A) & B, foFg (R) o E

(4) (A) e B, & (R) T&T 2

Options:-

.1, Option ID :- 1309,

. 2, Option ID :- 1310,

. 3, Option ID :- 1311,

. 4, Option ID :- 1312,
Answer Given:- 3, Option ID : -1311

Question ID:- 329




From among the following statements regarding economic critique of colonialism which
one are correct ?

(i)  The British attributed the rapid construction of rail roads as a proof of India’s
prosperity

(i) For nationalists, a negative impact on indigenous industries represented India’s
under-development of economy

(i) The nationalists emphasized that while expenditure served British imperial needs, it
also brought consequent prosperity

(iv) Not until 1905, did the Drain theory form part of the Indian National Congress
Agenda

Choose the correct answer from the code given below :
(1) (i) and (iii) only

(2) (i), (iii) and (iv) only

(3) (i) and (iv) only

(4) (1) and (iv) only

Iufaymarg &t i steira gefud Frefafes § 9 6 31 09 9l 82

() SIS e a9 Yo 92 o e s YRGS Sgsal S wH S |

(i) rgaredl @ HATHR, Tl SEM UL AT AhIIcHh YIS, TR ohi Afaehiad sieferawn 1
WEgt e €1

(iii)  Trzenfedi A o feon fop waft =2 fafes v #t srge smewEsas § gems o fFg
TS WerEsy ggfg off @)

(iv) H11905 ¥ ggal 7o oA el &1 fHgr IRdia W siis &1 ey & fewm 78 o1

== feu 71T e § | W I A A FIWT

(1)  =hefel (i) T (iii)

) R (i), (iii) T (iv)
(3) e (if) T (iv)
(4) IS (i) 99T (iv)
Options:-

.1, Option ID :- 1313,
« 2, Option ID :- 1314,
. 3, Option ID :- 1315,

. 4, Option ID :- 1316,
Answer Given:- 4, Option ID : -1316

Question ID:- 330




Chronologically arrange the following organizations from their date of establishment.
()  All India Trade Union Congress (AITUC)

(i) Indian National Trade Union Congress (INTUC)

(i) Independent Labour Party of India (Dr. B.R. Ambedkar)

(iv) Hindustan Socialist Republican Association

Choose the correct answer from the code given below :

(1) (i), (iv), (i), ()

(2) (@) (i), (iv), (i)
(3) (i), (iv), (i), (i)
(4) @), (), (i), @)

Frefeafa e = 5% enfa 39 =1 ff & Fesraear safer Fife
() HAEA IR HeigL H9 HUH (AITUC)
(i) YR TR Heigl 99 i (INTUC)
(ifi) MY a5 TG gl (2. LS. STEEEt)
fegedm |HITaTE] ToTifER el
Frefafad e o 9 W@ 3T 1 gE R
(1) (i), (iV) (i), (1)
(2) (@) (i), (iv), (i)
(3) (i), (iv), (i), (i)
(4) (@), (iv), (i), (i)

Options:-

.1, Option ID :- 1317,
. 2, Option ID :- 1318,
. 3, Option ID :- 1319,

« 4, Option ID :- 1320,
Answer Given:- 4, Option ID : -1320

Question ID:- 331

Under the intense pressure of Chaing Kai-Shek’s forces, in which year Mao Zedong led
“The Long March’ of the communist brigade ?

) January 1927
2) November 1929
3) October 1934
4)  June 1936

s e T s
—




=T FHE-VF HI WA & Foe gora H, "ol feei 7 frg o # greerd arfet % d a6
g T ?

(1) SHad 1927
(2) TEwRR 1929
(3) SRS 1934
(4) ST 1936
Options:-

.1, Option ID :- 1321,
« 2, Option ID :- 1322,
. 3, Option ID :- 1323,

. 4, Option ID :- 1324,
Answer Given:- 1, Option ID : -1321

Question ID:- 332

In which year Chaing Kai-Shek broke the Communists and sent the Russian advisors
back ?

(1) 1925
(2) 1927
(3) 1931
(4) 1934

forg ad | = FE-91% 3 grgantedl o1 faefed iR S qamsiemed & amdy Se ?
(1) 1925

(2) 1927

(3) 1931

(4) 1934
Options:-

.1, Option ID :- 1325,
« 2, Option ID :- 1326,
. 3, Option ID :- 1327,

. 4, Option ID :- 1328,
Answer Given:- 3, Option ID : -1327

Question ID:- 333

Under Meiji Restoration, who became the first Prime Minister of Japan and also drafted
Japan's Meiji Constitution ?

(1) Ito Hirobumi

(2) Saigo Takamori

(3) Tagaki Taisuke

(4) Okubo Toshimichi




Bl : TroH 8, FRaa ST 3 Ssft wfas o gy TER o SN ST w1 gey G o ?
(1) =@ B

(2) I AR
(3) TR AEHF
(4)  Hrepal aifafeE
Options:-

.1, Option ID :- 1329,
. 2, Option ID :- 1330,
. 3, Option ID :- 1331,

. 4, Option ID :- 1332,
Answer Given:- 3, Option ID : -1331

Question ID:- 334

Which one of the following did NOT constitute the lowest segment of the feudal society in
Europe ?

(1) The Free-holders

(2) The Villeins
(3) Serfs
(4) Traders

Trefafad 5 | %H 91 709 & QrHdare 991§ & Gy e @ o fewm =78 a1?
(1) 9ul w=fHe ared @i

(2) fafem= (Villeins)
(3) AEIH (Serf)
(4) =OE

Options:-

.1, Option ID :- 1333,
. 2, Option ID :- 1334,
. 3, Option ID :- 1335,

« 4, Option ID :- 1336,
Answer Given:- 2, Option ID : -1334

Question ID:- 335

Which one of the following was NOT a cause for the decline of feudalism in Europe ?
(1) The Black Death - a devastating plague which spread over most of Europe

(2)

(3) Increase in the prices of food stuffs due to the improvement in production
(4)

The emergence of new economic patterns

The rise of absolute monarchies




Tr=ifafad | | A |, JUY H GHTAE % 9o =1 R T o ?
(1) el 9eg (Soih 89) - U Tamemenel @rT it g4 & aAfursrier T § et ram o)

(2) 8 sfddeR AifaEi = I

(3) SIS T H GUR o HROT W TSI i HiHdl 1 6 |
(4) THa vsEsE 38T

Options:-

.1, Option ID :- 1337,
. 2, Option ID :- 1338,
. 3, Option ID :- 1339,

. 4, Option ID :- 1340,
Answer Given:- 2, Option ID : -1338

Question ID:- 336

During the second World War what kind of programme Japan initiated to acquire raw
materials from other states ?

(1) Concluded treaties with British Indian State

(2) Started ‘Greater East Asia Co-prosperity Sphere” Programme
(3) Concluded treaty with Burma and Australia
(4)

4 Initiated mutual exchange of raw-materials with Indo-China

fadra fava-gg & <, T8 U1 9 o= J1e WIW 3 o fod ST A fohd WahR &1 ST g6
feran ?

(1) ¥R = ferfewr Teai | 94 11

(2) ‘ges fw ufern ve-ugfe &5 weiwH g

(3) @i den sieferan o wer wfY

(4) SS-AEA S WY e Hie 6 IRERE AEH-9EH UE fHarl

Options:-

.1, Option ID :- 1341,
« 2, Option ID :- 1342,
. 3, Option ID :- 1343,

- 4, Option ID :- 1344,
Answer Given:- 4, Option ID : -1344

Question ID:- 337




Which one of the following statements is not correct ?

(1) The Anglo-Japanese Alliance concluded in January 1902 recognized Japan’s
dominant interests in Korea

(2)  Britain’s alliance with Japan was seen as a means of containing Russian expansion
in Manchuria

(3) Russian occupation of Manchuria after the Boxer Rebellion was perceived by Japan
as a prospective threat

(4) Japan received informal support from Russia’s allies - France and Germany, to be
aggressive against Russia

frefafad § § &H 91 w9 U8 7@ § 2

(1) SHed 1902 H SArfsrd Trell-sarT Sweia = hifian I ST sl |qeE 20w &1 9w
i

(2) o= = S o e T, FERE H $9 & fawr i e S "y gEE T

(3) e fage % 9, TERE R &G H Heel, W9 51 defad T F 9 F S8 7@

(4) A A B9 & favs SR B % foe, €9 % dftes <9 - Wig g1 ST, § s
HETIdl AT =i off |

Options:-

.1, Option ID :- 1345,
« 2, Option ID :- 1346,
. 3, Option ID :- 1347,

. 4, Option ID :- 1348,
Answer Given:- 2, Option ID : -1346

Question ID:- 338

During the Meiji Period, Japan won significant wars against two Countries/Companies :
(1) America and China

(2) Korea and America
(3) China and Russia
(4) English East India Company and French East India Company

TSl & H SH A o € Suil /st o fovg 38§ fasm wra &1 ot ?

(1)  SeiehT qe =

(2) eIfET G ST

(3) EHE AW BH

(4) cfew $= gfem st qon S Sfem o
Options:-

.1, Option ID :- 1349,
« 2, Option ID :- 1350,
. 3, Option ID :- 1351,




. 4, Option ID :- 1352,
Answer Given:- 3, Option ID : -1351

Question ID:- 339

Which one of the following statements regarding Renaissance is NOT correct ?

(1) Renaissance has been seen as the line dividing modern Europe from Medieval Europe
The scholars of the Renaissance were very critical of the earlier scholasticism

2)
3) The Renaissance intellectuals made sustained attack on Humanism
)

(
(
(4

Karl Marx and Engels saw the Renaissance movement as a relation between cultural
production (Arts) and material production (the economy)

Frefafaa 5 9 #F o1 e g Fe & fava § o8 w8 © 2

(1) ST ShTel shi STEfeR JUT G HeTehrer g = faafsrd st areft T & &9 § 3@
T TN

YASIRYT STe o a8 Hed whielid &34 (Scholasticism) & 3Teie A= 9|
YASIROT hTet o alifgeh Gl = HFeTerg W STehHY ST & |

4) e TR qe1 U 3 YASTRY i RIS Hikkfae Scred (Fe) qon ifge Sere
(s1feeren) & 7eq H Heie 7 |

—
155) R
o

Options:-

.1, Option ID :- 1353,
« 2, Option ID :- 1354,
. 3, Option ID :- 1355,

. 4, Option ID :- 1356,
Answer Given:- 3, Option ID : -1355

Question ID:- 340

Match List-I with List-II and select the correct answer from the code given below :

List-1 List-II
(Sculptor) (The Work)
(a) Michaelangelo (i) ‘Assumption of the Virgin’
(b) Raphael Sanzio (i) ‘The Last Supper’
() Leonardoe da Vinci (ili) ‘Sistine Madonna’
(d) Titian (iv) Fresco Paintings in St. Peter’s Church

(@ ® (9 ()

1) @@ (v) @O (@)

(2) @) (@) @) (@

G O v (@) (@
)

(v) (D) @) @




T - 1R Geit - 113 19 e sifse | i fou 7o e § @ wf S &1 9 i

-1 gl - 11
( ForeaamT) (&fd)
(a) TEHATSE (i) oISWH #F g gfSi (Assumption of the Virgin)
(b)  THMUE HfsE (i) ‘T AR R’ (The Last Supper)
(c) el T fa=h (iii) ‘foem TEm
(@) feform (iv) He died =4 i el gfen
< :
@@ () (©
(H (@) Gv) @ ()
(2) () (@) (@v) ()
() @ Gv) (D) ()
(4) (v) (@) (@) ()
Options:-
.1, Option ID :- 1357,
« 2, Option ID :- 1358,
. 3, Option ID :- 1359,
. 4, Option ID :- 1360,

Answer Given:- 4, Option ID : -1360

Question ID:- 341

Given below are two statements, one labelled as Assertion (R) and other labelled as Reason
(R).

Assertion (A) : Social inequality had begun in the chalcolithic period.

Reason (R) : It is demonstrated in the cultural practices of the people.

In the context of the above two statements, which of the following is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)is true, but (R) is false.

(4) (A) is false, but (R) is true.

A= 31 == fou TUE | U R HAT (A) A GH H WRT (R) FEl T E |
H (A) TGS et B TSR ST IRET &1 geht of |
HE (R) g A ot Hitehiaes westi o fe@ < §1

IR < el & e § frefafed § @ @ w wd 2

(1) (A) 3 (R) ST & € 3l (R), (A) )t WEt =T T

(2) (A) 3R (R) FF W E, R (R), (A) Ft HET S T 2

(3) (A) W@ T, foFg (R) o B

(4) (A) T g, TR (R) W@ 2




Options:-

.1, Option ID :- 1361,
. 2, Option ID :- 1362,
. 3, Option ID :- 1363,

« 4, Option ID :- 1364,
Answer Given:- 3, Option ID : -1363

Question ID:- 342

Which of the following was the principal city of Assaka Mahajanapada ?

(1) Bairat

(2) Dantapura
(3) Mahismati
(4) Potana

Tfertad | 9 S Se9® Helsug 1 JHE@ TR 417

(1) "=

(2) AR

(3) wrfEsdl

(4) e
Options:-

.1, Option ID :- 1365,
« 2, Option ID :- 1366,
. 3, Option ID :- 1367,

. 4, Option ID :- 1368,
Answer Given:- 4, Option ID : -1368

Question ID:- 343

Arrange the following eras in the chronological order with reference to their beginning ?
(i) Saka Era

(i) Vallabhi Era

(ii) Kalachuri Era

(iv) Malava Era

Choose the correct answer from the code given below :

(1) @), (), (), (i)

(2) @), (i), (v), (i)
(3) () (i), (i), (iv)
(4)  (v), (i), (i), (i)
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(i) ¥ Haq
(i) el e
) R Haq
(iv) W HIq
= fed M3 e i geEd ¥ WE I 1 =TI Hife
(L) @), @), (i), (i)
(2) (), (i), (iv), (ii)
(3) (@) (i), (i), (iv)
(4)  (v), (i), (i), (i1)

Options:-

.1, Option ID :- 1369,
. 2, Option ID :- 1370,
. 3, Option ID :- 1371,

. 4, Option ID :- 1372,
Answer Given:- 3, Option ID : -1371

Question ID:- 344

Which of the following Gupta rulers had issued Asvamedha type coins ?
() Chandragupta - I

(i) Samudragupta

(i) Chandragupta - II

(iv) Kumaragupta - I

Select the correct answer from the code given below :

(1) (i) and (ii) only

(2) (i) and (iii) only

(3) (iii) and (iv) only
4 (

4 ii) and (iv) only
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() ==ra-1

(i) HIET

(i) =W -1

(iv) FHETD- I
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(1) e (i) ST (ii)

(2) e (if) T (i)

(3) e (iif) I (iv)

(4) e (if) 3R (iv)




Options:-

.1, Option ID :- 1373,
. 2, Option ID :- 1374,
. 3, Option ID :- 1375,

« 4, Option ID :- 1376,
Answer Given:- 2, Option ID : -1374

Question ID:- 345

Peloponnesian war was fought between :
(1) Athens and Rome

(2) Athens and Sparta

(3) Sparta and Rome

(4) Corinth and Rome

(1) udg iy é; ey

(2) TUHY AR wWEl F g

(3) TRl SR AH & HA

(4) HIRY IR IH & 7A
Options:-

.1, Option ID :- 1377,
« 2, Option ID :- 1378,
. 3, Option ID :- 1379,

. 4, Option ID :- 1380,
Answer Given:- 3, Option ID : -1379

Question ID:- 346

By which of the following years the long and arduous conquest of penninsular Italy by
the Romans was complete ?

(1) 271 BCE
(2) 266 BCE
(3) 261 BCE
(4) 258 BCE

ey few e ot & ) for o e A B AR e Y e SR geR S o A e o ?

(1) 271 stEE,

(2) 266 &1.HIE.

(3) 261 &1LELE,

(4) 258 St.ELE,
Options:-

.1, Option ID :- 1381,




« 2, Option ID :- 1382,
. 3, Option ID :- 1383,

. 4, Option ID :- 1384,
Answer Given:- 3, Option ID : -1383

Question ID:- 347

Identify among the following authors a female writer :

(1) Appar

(2) Sambandar
(3) Andal

(4) Sundaram

=1 AEeRl | Afget TEATRR 61 Y= i |

(1) &=
(2) H=E=R
(3) ST<E
(9 E<W
Options:-

.1, Option ID :- 1385,
. 2, Option ID :- 1386,
. 3, Option ID :- 1387,

. 4, Option ID :- 1388,
Answer Given:- 3, Option ID : -1387

Question ID:- 348

Match List - I with List - II and select the correct answer from the code given below the

List - 1 List - IT
(Writer) (Persian Texts)
(a) Minhaj-us Siraj (i)  Fatawa-i Jahandari
(b) Ziauddin Barani (i) Tarikh-i Mubarak Shahi
(c) Isami (iii) Tabagat-i Nasiri
(d) Yahya bin Ahmad Sirhindi (iv) Futuli-us Salatin

@@ (b) (9 (@

(D Qv) (@) @ @

2 G @@ @v) (i)
3 (v) @ @) (i)
4) @) @) Gv) (1)
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. 4, Option ID :-
Answer Given:-

(@ ) (wRET Ter)
(a) Toe-39 fmws () ParEr-T SEler?
(by fomr=Em st (i) @IE-T Gae dE]
(c) ZHHl (iii) TIHT-T AT
(d) =N fo sreue gefe<d (iv) Fge-39 gerdd
< :
(@) () (o (d
(1) (v) @) @) @
(2) (@) @ Gv) (i)
G @) @ @ ()
(4) @) @ (@v) (1)
Options:-
.1, Option ID :- 1389,
« 2, Option ID :- 1390,
. 3, Option ID :- 1391,

1392,
4, Option ID : -1392

Question ID:- 349

Which of the following lands under Akbar were assessed at full rates ?

(i)  Polaj
(ii)y Parauti
(i) Chachar

(iv) Banjar

Select the correct answer from the code given below :

(1) (i) and (ii)
(2) (ii) and (iii)
(3) (i) and (iv)
(4) (i) and (i)
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(i) s
(i) wSrd
(iii) =ER
(iv) @SR
= fau U e d ° WE I F FIA HifA0)
(1) @) (i)
(2) (i) 3 (i)
3 dﬂ? (iv)
(4) (i) 3R (iid)
Options:-

.1, Option ID :- 1393,
« 2, Option ID :- 1394,
. 3, Option ID :- 1395,

. 4, Option ID :- 1396,
Answer Given:- 4, Option ID : -1396

Question ID:- 350

During his Balkh and Badakhshan campaigns services of which of the following Sufis
were obtained by Shahjahan ?

(1) Shattari Sufis

(2) Nagshabandi Sufis
(3) Suhrawaradi Sufis
(4) Qadiri Sufis

YIESTRl 4 3797 god 3 seel AR & SRF fohg gl Ha &1 Sand ure & 2
(1) e g

(2) TR GH
(3) GEERl gHl
(4) Tl
Options:-

.1, Option ID :- 1397,
« 2, Option ID :- 1398,
. 3, Option ID :- 1399,

. 4, Option ID :- 1400,
Answer Given:- 4, Option ID : -1400

Question ID:- 351




Consider the following statements :
(i)  One of the most spectacular temples of Vijayanagara was the Hazara Rama temple
(i) Hazara Rama temple was probably meant to be used only by the king and his family
(iii) Sculptured panels on the inner walls of the shrine include scenes from the Ramayana
(iv) The chief characteristic feature of the temple complex is the chariot streets
Choose the correct answer from the code given below :
(1) (), (i) and (i)

(2) (1), (iii) and (iv)
(3) (i), (i) and (iv)
@ () (), @), @)

FrreAferfaa el o fa=m #ifie

() TasTaTR = UF He e Hiet B8 T Hfew o

(i)  HYEd: TSI 9 T 1 TEE hae TS SR 37 9fEr gr & fRen S o
(iii) R T AR <ol W Sehifvld el | THE E fore T gvEie |t § )
(iv) Hfex ofted it s g fagar 1 afet €1

A< feu 71U he | WE I H TEA Hilo :
(1) (), (i) 3 (i)
2 i), (iii) (1v)

2 (

(3) (i), (iii) dﬁt(w)
(4) () (i), (i) 3R (iv)
Options:-

.1, Option ID :- 1401,

« 2, Option ID :- 1402,

. 3, Option ID :- 1403,

. 4, Option ID :- 1404,
Answer Given:- 2, Option ID : -1402

Question ID:- 352

Which of the following earliest Mughal manuscripts was ordered to be painted by

Akbar ?

(1) Hamzanama
(2) Tarikh-i Khandan-i Timuriya
(3) Baburnama
(4)

4 Razmnama
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(1) =W

(2) TRE-TE@ARA-T g
(3) EEEMH

(4) TSEATI

Options:-

.1, Option ID :- 1405,
. 2, Option ID :- 1406,
. 3, Option ID :- 1407,

. 4, Option ID :- 1408,
Answer Given:- 1, Option ID : -1405

Question ID:- 353

The Mongol tribe was formed after the unification of Turkic and Mongol tribes under
Chenghiz Khan in which of the following years ?

(1) 1201
(2) 1203
(3) 1205
(4) 1206

Frfafea & o forg o o =7 @ &% g | ol IR Hiliel SISia o1 ThiHo g Hile
el &1 fmio e ?

(1) 1201
(2) 1203
(3) 1205
(4) 1206

Options:-

.1, Option ID :- 1409,
. 2, Option ID :- 1410,
. 3, Option ID :- 1411,

. 4, Option ID :- 1412,
Answer Given:- 2, Option ID : -1410

Question ID:- 354

During the rising tide of nationalists and anti-British sentiments, the government followed
the policy of ‘carrot and stick’, if Mantague-Chelmsford reforms were example of carrot,
what is symbol of stick from the following ?
(1) The Rowlatt Act

2)  The increase in the number of members in the upper house

(2)
(3) Transfer of certain Departments to Indian Ministers
(4)

4) Increase in the number of members in provincial councils
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(1) Tele xR

(2) T WeA H HeHl i HE&A H dernl
(3) T fordrl w1 WA HE=l Sl gy
(4) TiF IS o Tewl H Sedt
Options:-

.1, Option ID :- 1413,
« 2, Option ID :- 1414,
. 3, Option ID :- 1415,

« 4, Option ID :- 1416,
Answer Given:- 1, Option ID : -1413

Question ID:- 355

Which one of the following was not a cause for the revolt of 1857 ?

(1) The burden of excessive taxes made the peasantry indebted and impoverished
2
(3) The Christian missionaries encouraged the rebels to revolt
(4) Lord Dalhousie’s Doctrine of Lapse

The traditional landed aristocracy lost their powers and privileges

Frefafaa § § M @ 1857 Sl shifd =1 R0 & 912

(1) Scafes o o I+ H¥eh THR ohl BURE a1 e =1 fen on)
(2) WP -Hufd arel 3= ai A A9 i wd fad sifyer @ feu)
(3) =EE U wERen A famEifedl i Hifd & fou swam

(4) TS SABIST I T A

Options:-

.1, Option ID :- 1417,
« 2, Option ID :- 1418,
. 3, Option ID :- 1419,

« 4, Option ID :- 1420,
Answer Given:- 2, Option ID : -1418

Question ID:- 356

Which Sikh patriot was tried and executed by the British Government for the murder of
Sir Machael O" Dwyer ?

(1) Harbans Singh Attariawala
(2) Baba Santa Singh

(3) Sardar Udham Singh

(4) Majit Singh Kashid
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vE?
(1) =@ e srfmEen

(2) =ren ger foE

(3) HER FuH o8

(4) wsig o iR
Options:-

.1, Option ID :- 1421,
. 2, Option ID :- 1422,
. 3, Option ID :- 1423,

. 4, Option ID :- 1424,
Answer Given:- 3, Option ID : -1423

Question ID:- 357

Who was the first elected President of the All India Depressed Classes Association formed
in 1926 ?

(1) Dr. B.R. Ambedkar

(2) Rao Bahaddur M.C. Rajah
(3) Bhaskarrao Jadhav

(4) Jagjivan Ram

1926 ¥ Tfeq stfiaa arda <fed a7 Teen & gl faffaa sy $F 92
(1) . dL.3R. eeHt

(2) U@ TGt UH.HT. TS
(3) HERTTE SEE
(4)  SETSTEE T

Options:-

.1, Option ID :- 1425,
. 2, Option ID :- 1426,
. 3, Option ID :- 1427,

. 4, Option ID :- 1428,
Answer Given:- 4, Option ID : -1428

Question ID:- 358

After the Russo-Japanese war ended in September 1905, where was the treaty between
Russia and Japan signed ?

(1) Tokyo

(2) Leningrad
(3) Herbin

(4) Portsmouth
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(1) 2=l

(2) wfaR

(3) wfe

(4) URHARY
Options:-

.1, Option ID :- 1429,
« 2, Option ID :- 1430,
. 3, Option ID :- 1431,

« 4, Option ID :- 1432,
Answer Given:- 4, Option ID : -1432

Question ID:- 359

From among the following statements, which one is NOT an effect of Industrial
Revolution ?

(1)  Scarcity of consumer goods

(2) Factories provided employment for rural people
(3) Rise of capitalist and entrepreneur class

(4) Exploitation of industrial labour

frfafiaa § ¥ &F 91 SiEfirs shifd 1 g 7& 2 ?
(1)  Susjrera Sl i Rl

(2) FrERfEl J a @Rl TSR Ye e
(3) Usfemt gen e o i Se

(4) it Hegy = 1 g

Options:-

.1, Option ID :- 1433,
. 2, Option ID :- 1434,
. 3, Option ID :- 1435,

« 4, Option ID :- 1436,
Answer Given:- 1, Option ID : -1433

Question ID:- 360

Which one of the following statements regarding renaissance is not correct ?
(1) The renaissance was the product of a rural environment
(2) Economic growth laid the foundation of the Italian Renaissance

(3) The presence of wealth in the Italian towns was another important factor in the
emergence of the Renaissance

(4) Aristocratic patronage played a part in the origins and maturing of the Renaissance
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(1) YIS STl Weh UTHTT SIareryl o1 Sedfd o |

(2) i foshm 32l & TSRO Fd i Ala W@l |

(3) sl % vl H Suftyd wA-wwaEl off JASIR wiE & sfavia 1 U gecyyl Fek o)
(4)  FSTa-a7 GH U< HL&UT i GASTRU e o 307 a1 gRgesdr § Heegel ites of |
Options:-

.1, Option ID :- 1437,

. 2, Option ID :- 1438,

. 3, Option ID :- 1439,

« 4, Option ID :- 1440,
Answer Given:- 4, Option ID : -1440
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